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«�>FG4?<74F<O EE5<O F5??>E=4565=<O -?<F>6E>>7> E5?LE>65F4 

�<5?LO=>6E>>7> D4=>=4 �D4E=>ODE>>7> >D4O =4 2021 7>4 < E ?5DE?5>F<6>= 4> 

2030 7>44» 6O?>?=5=4 =4 >E=>64=<<: 

- &5E=<G5E>>7> 7444=<O =4 6O?>?=5=<5 D45>F ?> 4>FG4?<74F<< EE5<O 

F5??>E=4565=<O -?<F>6E>>7> E5?LE>65F4 �<5?LO=>6E>>7> D4=>=4 �D4E=>ODE>>7> 

>D4O =4 2021 7>4 < =4 ?5DE?5>F<6G 4> 2030 7>44, GF65D645==>7> �4>47G<>><. 

�5N5< < E>EF46 EE5<O E>>F65FEF6G5F «�5F>4<G5E><< D5>><5=44F<O< ?> 

D47D45>F>< EE5< F5??>E=4565=<O» 66545==OE 6 45=EF6<5 6 E>>F65FEF6<< E ?G=>-

F>< 3 ?>EF4=>6?5=<O �D46<F5?LEF64 $$ >F 22.02.2012 7 154. 

�D< 4>FG4?<74F<< GGF5=O FD55>64=<O 74>>=>44F5?LEF64 $>EE<=E>>= $545-

D4F<<, EF4=44DF>6 $$, 45=EF6GNM<E =>D<4F<6=OE 4>>G<5=F>6 �<=<EF5DEF64 

?D<D>4=OE D5EGDE>6 $>EE<<, 4DG7<E =>D<4F<6=OE 4>F>6, D57G?<DGNM<E ?D<D>-

4>>ED4==GN 45OF5?L=>EFL. 
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����� 1. %'-�%&�'.-�� ��������� � %$�$� 
�$������%&��, ��$���'� � ��&$������/ &������� 
-��$��� ��/ &���� &����%�������/ 

'4EFL 1. $G=>F<>=4?L=4O EFDG>FGD4 F5??>E=4565=<O 

%<EF5<O F5??>E=4565=<O ?D54EF46?ONF E>5>= <=65=5D=O= >><??5>E <7 

<EF>G=<>>6 F5??>6>= M=5D7<< < ?>FD55<F5?5= F5??4, E6O74==OE <564G E>5>= F5?-

?>6O<< E5FO<< D47?<G=>7> =47=4G5=<O < 54?4=E>6>= ?D<=44?56=>EF<, <<5NM<-

<< E4D4>F5D=O5 F5??>6O5 < 7<4D46?<G5E><5 D56<<O E 7444==O<< ?4D4<5FD4<< 

F5??>=>E<F5?O. �5?<G<=O ?4D4<5FD>6 < E4D4>F5D <E <7<5=5=<O >?D545?ONFEO 

F5E=<G5E><<< 6>7<>6=>EFO<< >E=>6=OE EFDG>FGD=OE M?5<5=F>6 E<EF5< F5??>-

E=4565=<O (<EF>G=<>>6, F5??>6OE E5F5= < ?>FD55<F5?5=), M>>=><<G5E>>= F5?5E>-

>5D47=>EFLN. 

'4EFL 2. �EF>G=<>< F5??>6>= M=5D7<< 

� =4EF>OM55 6D5<O =4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 �<5?LO=>6E>>7> 

D4=>=4 �D4E=>ODE>>7> >D4O, EGM5EF6GNM4O F5=FD4?<7>64==4O E<EF5<4 F5??>-

E=4565=<O, ?D54EF46?5=4 FD5<O <EF>G=<>4<< F5??>6>= M=5D7<< < D4E?D545?<-

F5?L=O<< F5??>6O<< E5FO<<. �>F5?L=O5 >5E?G6<64NFEO D5EGDE>E=4564NM5= 

>D74=<74F<5= �5M5EF6> E >7D4=<G5==>= >F65FEF65==>EFLN «�D4E=>ODE>4O E5F5-

64O >><?4=<O» (44?55 3 ��� «�%�»). 

1. �>F5?L=4O <>D. �<4=O=. 

� E>EF46 >E=>6=>7> (>>F?>6>7>) >5>DG4>64=<O >>F5?L=>= 6E>4OF ?OFL 6>4>-

7D5==OE >>F?>6 >5M5= GEF4=>6?5==>= F5??>6>= <>M=>EFLN 6,22 �>4?/G4E. 

�D<E>54<=5==4O =47DG7>4 ?>FD55<F5?5= E>EF46?O5F 3,85 �>4?/G4E.  

&5<?5D4FGD=O= D56<< D45>FO >>F5?L=>= 95-70°%. 

&<D>G?OF<O F5??>=>E<F5?O >EGM5EF6?O5FEO E5F56O<< =4E>E4<<.  %>EF46 < 

E4D4>F5D<EF<>< E5F56>7> =4E>E=>7> >5>DG4>64=<O ?D54EF46?5= 6 F45?<F5 2.1. 

%5F564O 6>44 4?O E<EF5< >F>??5=<O ?>FD55<F5?5= ?>445FEO >F >>F5?L=>= ?> 

2-E FDG5=>= E<EF5<5 FDG5>?D>6>4>6. 

�4F57>D<O ?>FD55<F5?5= F5??>6>= M=5D7<< ?> =4456=>EF< F5??>E=4565=<O 
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< >F?GE>G F5??4 3 6F>D4O. �EE>4=4O 6>44 4?O ?>4?<F>< E<EF5<O F5??>E=4565=<O 

?>EFG?45F <7 E>7O=EF65==>-?<FL56>7> 6>4>?D>6>44 ?D<=44?564M5< =4 ?D465 E>5-

EF65==>EF< ��� «�%�». %<EF5<4 ?>47>F>6>< <EE>4=>= (?>4?<F>G=>=) 6>4O <<5-

5FEO. 

$57G?<D>64=<5 F5<?5D4FGDO E5F56>= 6>4O, ?>EFG?4NM5= 6 F5??>E5FL, 6 74-

6<E<<>EF< >F F5<?5D4FGDO =4DG6=>7> 6>74GE4, ?D><EE>4<F <7<5=5=<5< D4EE>44 

F>??<64. 

->E??G4F4F<O >>F5?L=>= >EGM5EF6?O5FEO F>?L>> 6DGG=GN E 6<7G4?L=O< 

>>=FD>?5< ?4D4<5FD>6 D45>FO 6E57> >5>DG4>64=<O E>7?4E=> ?>>474=<O< >>=-

FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6. %=4565=<5 F5??>6>= M=5D7<5= >EGM5EF6?O5F-

EO F>?L>> 6 >F>?<F5?L=O= ?5D<>4. � <56>F>?<F5?L=O= ?5D<>4 DG=>F<>=<D>64-

=<5 >>F5?L=>= ?D5>D4M45FEO. 

2. �>F5?L=4O ?. -?<F4 

� E>EF46 >E=>6=>7> (>>F?>6>7>) >5>DG4>64=<O >>F5?L=>= 6E>4OF G5FOD5 6>-

4>7D5==OE >>F?4 >5M5= GEF4=>6?5==>= F5??>6>= <>M=>EFLN 4,46 �>4?/G4E. 

�D<E>54<=5==4O =47DG7>4 ?>FD55<F5?5= E>EF46?O5F 2,232 �>4?/G4E.  

&5<?5D4FGD=O= D56<< D45>FO >>F5?L=>= 95-70°%. 

&<D>G?OF<O F5??>=>E<F5?O >EGM5EF6?O5FEO E5F56O<< =4E>E4<<.  %>EF46 < 

E4D4>F5D<EF<>< E5F56>7> =4E>E=>7> >5>DG4>64=<O ?D54EF46?5= 6 F45?<F5 2.1. 

%5F564O 6>44 4?O E<EF5< >F>??5=<O ?>FD55<F5?5= ?>445FEO >F >>F5?L=>= ?> 

2-E FDG5=>= E<EF5<5 FDG5>?D>6>4>6. 

�4F57>D<O ?>FD55<F5?5= F5??>6>= M=5D7<< ?> =4456=>EF< F5??>E=4565=<O 

< >F?GE>G F5??4 3 6F>D4O. �EE>4=4O 6>44 4?O ?>4?<F>< E<EF5<O F5??>E=4565=<O 

?>EFG?45F <7 E>7O=EF65==>-?<FL56>7> 6>4>?D>6>44 ?D<=44?564M5< =4 ?D465 

4D5=4O ��� «�%�». %<EF5<4 ?>47>F>6>< <EE>4=>= (?>4?<F>G=>=) 6>4O >FEGF-

EF6G5F. 

$57G?<D>64=<5 F5<?5D4FGDO E5F56>= 6>4O, ?>EFG?4NM5= 6 F5??>E5FL, 6 74-

6<E<<>EF< >F F5<?5D4FGDO =4DG6=>7> 6>74GE4, ?D><EE>4<F <7<5=5=<5< D4EE>44 

F>??<64. 

->E??G4F4F<O >>F5?L=>= >EGM5EF6?O5FEO F>?L>> 6DGG=GN E 6<7G4?L=O< 
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>>=FD>?5< ?4D4<5FD>6 D45>FO 6E57> >5>DG4>64=<O E>7?4E=> ?>>474=<O< >>=-

FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6. %=4565=<5 F5??>6>= M=5D7<5= >EGM5EF6?O5F-

EO F>?L>> 6 >F>?<F5?L=O= ?5D<>4. � <56>F>?<F5?L=O= ?5D<>4 DG=>F<>=<D>64-

=<5 >>F5?L=>= ?D5>D4M45FEO. 

3. �>F5?L=4O E. �D5=E>4O 

� E>EF46 >E=>6=>7> (>>F?>6>7>) >5>DG4>64=<O >>F5?L=>= 6E>4OF 464 6>4>-

7D5==OE >>F?4 >5M5= GEF4=>6?5==>= F5??>6>= <>M=>EFLN 1,26 �>4?/G4E. 

�D<E>54<=5==4O =47DG7>4 ?>FD55<F5?5= E>EF46?O5F 0,15 �>4?/G4E.  

&5<?5D4FGD=O= D56<< D45>FO >>F5?L=>= 95-70°%. 

&<D>G?OF<O F5??>=>E<F5?O >EGM5EF6?O5FEO E5F56O<< =4E>E4<<.  %>EF46 < 

E4D4>F5D<EF<>< E5F56>7> =4E>E=>7> >5>DG4>64=<O ?D54EF46?5= 6 F45?<F5 2.1. 

%5F564O 6>44 4?O E<EF5< >F>??5=<O ?>FD55<F5?5= ?>445FEO >F >>F5?L=>= ?> 

2-E FDG5=>= E<EF5<5 FDG5>?D>6>4>6. 

�4F57>D<O ?>FD55<F5?5= F5??>6>= M=5D7<< ?> =4456=>EF< F5??>E=4565=<O 

< >F?GE>G F5??4 3 6F>D4O. �EE>4=4O 6>44 4?O ?>4?<F>< E<EF5<O F5??>E=4565=<O 

?>EFG?45F <7 E>5EF65==>= E>646<=O >>F5?L=>=. %<EF5<4 ?>47>F>6>< <EE>4=>= 

(?>4?<F>G=>=) 6>4O >FEGFEF6G5F. 

$57G?<D>64=<5 F5<?5D4FGDO E5F56>= 6>4O, ?>EFG?4NM5= 6 F5??>E5FL, 6 74-

6<E<<>EF< >F F5<?5D4FGDO =4DG6=>7> 6>74GE4, ?D><EE>4<F <7<5=5=<5< D4EE>44 

F>??<64. 

->E??G4F4F<O >>F5?L=>= >EGM5EF6?O5FEO F>?L>> 6DGG=GN E 6<7G4?L=O< 

>>=FD>?5< ?4D4<5FD>6 D45>FO 6E57> >5>DG4>64=<O E>7?4E=> ?>>474=<O< >>=-

FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6. %=4565=<5 F5??>6>= M=5D7<5= >EGM5EF6?O5F-

EO F>?L>> 6 >F>?<F5?L=O= ?5D<>4. � <56>F>?<F5?L=O= ?5D<>4 DG=>F<>=<D>64-

=<5 >>F5?L=>= ?D5>D4M45FEO. 
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�4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4, ��� «�%�» >EGM5EF6?ONF ?D><7-

6>4EF6> < ?5D544GG F5??>6>= M=5D7<<: 6 >F=>L5=<< >>F5?L=>= E. �D5=E>>5 =4 >E-

=>64=<< 74>?NG5==>7> 4>7>6>D4 4D5=4O E 44<<=<EFD4F<5= �<5?LO=>6E>>7> D4=>-

=4, >>F5?L=>= ?. -?<F4 =4 >E=>64=<< 4>7>6>D4 4D5=4O 74>?NG5==>7> E 44<<=<-

EFD4F<5= -?<F>6E>>7> E5?LE>65F4, 4 F4> 65 >>F5?L=>= <>D. �<4=O= ?. -?<F4 =4 

?D465 E>5EF65==>EF<. ��� «�%�» 6O?>?=O5F ?D><76>4EF6> < ?5D544GG F5??>6>= 

M=5D7<<, >55E?5G<64O F5??>E=4565=<5< 6<?O5 < 44<<=<EFD4F<6=O5 744=<O 6 E. 

�D5=E>>5 < 6 ?. -?<F4.  

�EF>G=<>>< 6>4>E=4565=<O >>F5?L=>= <>D. �<4=O= O6?O5FEO 6>44 <7 E>7O=-

EF65==>-?<FL56>7> 6>4>?D>6>44 ?D<=44?564M57> ��� «�%�» =4 ?D465 E>5-

EF65==>EF<. 

�EF>G=<>>< 6>4>E=4565=<O >>F5?L=>= E. �D5=E>>5 O6?O5FEO 6>44 <7 E>5-

EF65==>= E>646<=O >>F5?L=>=. 

�EF>G=<>>< 6>4>E=4565=<O =4 >>F5?L=>= ?. -?<F4 O6?O5FEO 6>44 <7 E>7O=-

EF65==>-?<FL56>7> 6>4>?D>6>44 ?D<=44?564M57> ��� «�%�» =4 ?D465 4D5=4O. 

% ?>FD55<F5?O<< =4 6E5E >>F5?L=OE D4EG5F 6545FEO ?> D4EG5F=O< 7=4G5=<O< 

F5??>?>FD55?5=<O. 

$57G?<D>64=<5 F5<?5D4FGDO E5F56>= 6>4O, ?>EFG?4NM5= 6 F5??>E5FL, 6 746<-

E<<>EF< >F F5<?5D4FGDO =4DG6=>7> 6>74GE4, ?D><EE>4<F <7<5=5=<5< D4EE>44 

F>??<64 6 >>F5?L=OE < ?>>474=<= >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6. 

�>44G4 F5??>6>= M=5D7<< ?>FD55<F5?O< >EGM5EF6?O5FEO 6 746<E<<>EF< >F 

F5??>6>= =47DG7>< >F4??<645<OE >5N5>F>6. 

�<?>= D>=4 -?<F>6E>>7> E5?LE>65F4 =5 ?>4>?NG5==O= > F5=FD4?<7>64==>-

<G F5??>E=4565=<N E=45645FEO F5??>< >F <=4<6<4G4?L=OE <EF>G=<>>6 F5??4 

(?5G<, >4<<=O, >>F?O). 

�4 6E5E >>F5?L=OE -?<F>6E>>7> E5?LE>65F4 D54?<7>64=4 DGG=4O ?>44G4 F>?-

?<64. %=4565=<5 F5??>6>= M=5D7<5= >EGM5EF6?O5FEO F>?L>> 6 >F>?<F5?L=O= ?5-

D<>4.  
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

%FDG>FGD4 >E=>6=>7> (>>F?>6>7>) >5>DG4>64=<O ?> >>F5?L=>= ?D54EF46?5=4 6 

F45?<F5 2.1 

&45?<F4 2.1 

�4<<5=>64=<5 
>>F5?L=>= 

�4D>4   

>>F?4 

'EF4=>6?5=-
=4O <>M-

=>EFL, 
�>4?/G4E 

$4E?>?4745<4O 
<>M=>EFL, 
�>4?/G4E 

�>4 66>44 6 M>E-
??G4F4F<N 

�>F5?L=4O  

<>D. �<4=O= ?. 
-?<F4 

��&-1,25 1,07 1,07 - 

��D-1,25 1,07 1,07 2021 

��D-1,74 1,5 1,5 - 

��&-1,5 1,29 1,29 - 

��&-1,5 1,29 1,29 - 

�>F5?L=4O ?. -?<-
F4 

��D-1,25 1,07 1,07 2021 

��D-1,25 1,07 1,07 2021 

��D-1,16 1,16 1,16 2016 

��D-1,16 1,16 1,16 2016 

�>F5?L=4O E. 
�D5=E>>5 

��D-0,63 0,63 0,63 2019 

��D-0,63 0,63 0,63 - 

 

 

%4D4>F5D<EF<>4 >E=>6=>7> >5>DG4>64=<O <EF>G=<>>6 F5??>6>= M=5D7<< 

&45?<F4 2.2 

�>F5?L=4O <>D. �<4=O= ?. -?<F4 

&5<?5D4FGD=O= 7D4D<> D45>FO, &?/&>, °%  95/70 

'EF4=>6?5==4O F5??>64O <>M=>EFL >5>DG4>64-
=<O, �>4?/G4E 

6,22 

�7D4=<G5=<O F5??>6>= <>M=>EF< �> ?4E?>DFG 

�4D4<5FDO D4E?>?4745<>= F5??>6>= <>M=>EF<, 
�>4?/G 

1,41 

�5N5< ?>FD55?5=<O F5??>6>= M=5D7<< < F5??>=>-
E<F5?O =4 E>5EF65==O5 < E>7O=EF65==O5 =G64O, 
�>4? 

0,0011 

�4D4<5FDO F5??>6>= <>M=>EF< =5FF>, �>4?/G 1,4089 

%D>> 66>44 6 M>E??G4F4F<N F5??>D<>4F<>==>7> 
>5>DG4>64=<O 

2010, 2017, 2021 

�>4 ?>E?54=57> >E6<45F5?LEF6>64=<O ?D< 4>?GE>5 
> M>E??G4F4F<< ?>E?5 D5<>=F>6 

2021 

�>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= 
<>M=>EF<, % 

22,67 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

%?>E>5 D57G?<D>64=<O >F?GE>4 F5??>6>= M=5D7<< �4G5EF65==O= 6O5>D F5<?5D4FGD=>7> 7D4-
D<>4 >5GE?>6?5= =4?<G<5< F>?L>> >F>?<-
F5?L=>= =47DG7>< G >F4??<645<OE >5N5>-
F>6 <>D. �<4=O= ?. -?<F4 < =5?>ED54-
EF65==O< ?D<E>54<=5=<5< 45>=5=F>6 > 
F5??>6O< E5FO< 

%?>E>5 GG5F4 F5??4, >F?GM5==>7> 6 F5??>6O5 E5-
F< 

$4EG5F=O=, 6 746<E<<>EF< >F F5??>6OE 
=47DG7>> ?>FD55<F5?5= < ?>>474=<= F5<?5-
D4FGD F5??>=>E<F5?O 6 ?>44NM5< < >5D4F-
=>< FDG5>?D>6>44E 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >5>DG4>64-
=<O <EF>G=<>>6 F5??>6>= M=5D7<< 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >F-
EGFEF6G5F. 

�D54?<E4=<O =447>D=OE >D74=>6 ?> 74?D5M5=<N 
44?L=5=L5= M>E??G4F4F<< <EF>G=<>>6 F5??>6>= 
M=5D7<< 

�5 6O4464?<EL 

�>F5?L=4O ?. -?<F4 

&5<?5D4FGD=O= 7D4D<> D45>FO, &?/&>, °%  95/70 

'EF4=>6?5==4O F5??>64O <>M=>EFL >5>DG4>64-
=<O, �>4?/G4E 

4,46 

�7D4=<G5=<O F5??>6>= <>M=>EF< �> ?4E?>DFG 

�4D4<5FDO D4E?>?4745<>= F5??>6>= <>M=>EF<, 
�>4?/G 

 1,113 

�5N5< ?>FD55?5=<O F5??>6>= M=5D7<< < F5??>=>-
E<F5?O =4 E>5EF65==O5 < E>7O=EF65==O5 =G64O, 
�>4? 

0,005 

�4D4<5FDO F5??>6>= <>M=>EF< =5FF>, �>4?/G 3,345 

%D>> 66>44 6 M>E??G4F4F<N F5??>D<>4F<>==>7> 
>5>DG4>64=<O 

2016, 2017,2021 

�>4 ?>E?54=57> >E6<45F5?LEF6>64=<O ?D< 4>?GE>5 
> M>E??G4F4F<< ?>E?5 D5<>=F>6 

2021 

�>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= 
<>M=>EF<, % 

67,63 

%?>E>5 D57G?<D>64=<O >F?GE>4 F5??>6>= M=5D7<< �4G5EF65==O= 6O5>D F5<?5D4FGD=>7> 7D4-
D<>4 >5GE?>6?5= =4?<G<5< F>?L>> >F>?<-
F5?L=>= =47DG7>< G >F4??<645<OE >5N5>-
F>6 ?. -?<F4 -?<F>6E>>7> E5?LE>65F4 < 
=5?>ED54EF65==O< ?D<E>54<=5=<5< 45>-
=5=F>6 > F5??>6O< E5FO< 

%?>E>5 GG5F4 F5??4, >F?GM5==>7> 6 F5??>6O5 E5-
F< 

$4EG5F=O=, 6 746<E<<>EF< >F F5??>6OE 
=47DG7>> ?>FD55<F5?5= < ?>>474=<= F5<?5-
D4FGD F5??>=>E<F5?O 6 ?>44NM5< < >5D4F-
=>< FDG5>?D>6>44E 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >5>DG4>64-
=<O <EF>G=<>>6 F5??>6>= M=5D7<< 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >F-
EGFEF6G5F. 

�D54?<E4=<O =447>D=OE >D74=>6 ?> 74?D5M5=<N �5 6O4464?<EL 
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�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 
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�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

44?L=5=L5= M>E??G4F4F<< <EF>G=<>>6 F5??>6>= 
M=5D7<< 

�>F5?L=4O E. �D5=E>>5 

&5<?5D4FGD=O= 7D4D<> D45>FO, &?/&>, °%  95/70 

'EF4=>6?5==4O F5??>64O <>M=>EFL >5>DG4>64-
=<O, �>4?/G4E 

1,26 

�7D4=<G5=<O F5??>6>= <>M=>EF< �> ?4E?>DFG 

�4D4<5FDO D4E?>?4745<>= F5??>6>= <>M=>EF<, 
�>4?/G 

0,795 

�5N5< ?>FD55?5=<O F5??>6>= M=5D7<< < F5??>=>-
E<F5?O =4 E>5EF65==O5 < E>7O=EF65==O5 =G64O, 
�>4? 

0,0001 

�4D4<5FDO F5??>6>= <>M=>EF< =5FF>, �>4?/G 0,945 

%D>> 66>44 6 M>E??G4F4F<N F5??>D<>4F<>==>7> 
>5>DG4>64=<O 

2010, 2019 

�>4 ?>E?54=57> >E6<45F5?LEF6>64=<O ?D< 4>?GE>5 
> M>E??G4F4F<< ?>E?5 D5<>=F>6 

2021 

�>MDD<F<5=F <E?>?L7>64=<O GEF4=>6?5==>= 
<>M=>EF<, % 

15,87 

%?>E>5 D57G?<D>64=<O >F?GE>4 F5??>6>= M=5D7<< �4G5EF65==O= 6O5>D F5<?5D4FGD=>7> 
7D4D<>4 >5GE?>6?5= =4?<G<5< F>?L>> >F>-
?<F5?L=>= =47DG7>< G >F4??<645<OE >5N-
5>F>6 E. �D5=E>>5 -?<F>6E>>7> E5?LE>65F4 
< =5?>ED54EF65==O< ?D<E>54<=5=<5< 45>-
=5=F>6 > F5??>6O< E5FO< 

%?>E>5 GG5F4 F5??4, >F?GM5==>7> 6 F5??>6O5 E5-
F< 

$4EG5F=O=, 6 746<E<<>EF< >F F5??>6OE 
=47DG7>> ?>FD55<F5?5= < ?>>474=<= F5<?5-
D4FGD F5??>=>E<F5?O 6 ?>44NM5< < >5D4F-
=>< FDG5>?D>6>44E 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >5>DG4>64-
=<O <EF>G=<>>6 F5??>6>= M=5D7<< 

%F4F<EF<>4 >F>47>6 < 6>EEF4=>6?5=<= >F-
EGFEF6G5F. 

�D54?<E4=<O =447>D=OE >D74=>6 ?> 74?D5M5=<N 
44?L=5=L5= M>E??G4F4F<< <EF>G=<>>6 F5??>6>= 
M=5D7<< 

�5 6O4464?<EL 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

'4EFL 3. &5??>6O5 E5F< 

%<EF5<4 F5??>E=4565=<O 6>?NG45F 6 E55O: <EF>G=<>< F5??4, F5??>6O5 E5F< 

< E<EF5<O F5??>?>FD55?5=<O. 

�5M4O ?D>FO65==>EFL F5??>6OE E5F5= -?<F>6E>>7> E5?LE>65F4 E>EF46?O5F 

9794 < 6 46GEFDG5=>< <E?>?=5=<<, 6 F>< G<E?5: 6 <>D. �<4=O= ?. -?<F4 - 8073 

<, 6 ?. -?<F4 - 1499 <, 6 E. �D5=E>>5 - 222 <. �E=>6=O5 E5F< E<EF5< F5??>E=45-

65=<O 6 ?. -?<F4 < E. �D5=E>>5 ?>EFD>5=O 6 80-E, 90-E, 4 <>D. �<4=O= ?. -?<F4 6 

2010-E 6 7>44E. �<7><= GD>65=L >5E?G6<64=<O < GE?>6<O M>E??G4F4F<< F5??>6OE 

E5F5= ?D<6>4<F > E65DE=>D<4F<6=O< GF5G>4< F5??>=>E<F5?O, 4 F4>65 6OE>>>= 

464D<==>EF< F5??>6OE E5F5=.  

�><?5=E4F<O F5<?5D4FGD=OE G4?<=5=<= FDG5>?D>6>4>6 >EGM5EF6?O5FEO 74 

EG5F �->5D47=OE >><?5=E4F>D>6, 4 F4>65 74 EG5F 5EF5EF65==OE <7<5=5=<= 

=4?D46?5=<O FD4EEO.  

�<4D46?<G5E><5 <E?OF4=<O F5??>6OE E5F5= ?D>6>4OFEO ?>E?5 >>>=G4=<O 

>F>?<F5?L=>7> E57>=4 < ?>E?5 7465DL5=<O D45>F ?> ?>47>F>6>5 > >F>?<F5?L=><G 

E57>=G, ?5D54 =4G4?>< >F>?<F5?L=>7> ?5D<>44. 

$57G?<D>64=<5 >F?GE>4 F5??>FO >EGM5EF6?O5FEO >4G5EF65==>, ?> F5<?5D4-

FGD=O< 7D4D<>4< 95/70°%. 

�E=>6=O5 ?4D4<5FDO F5??>6OE E5F5= 6 F45?<F5 3.1 

&45?<F4 3.1 

7 
?/? 

�4<<5=>64=<5 
GG4EF>4 

�4DG6=O= 
4<4<5FD 

FDG5>?D>-
6>44 << 

�?<=4 
FDG5>?D>6>44 
F5??>6>= E5-

F<, < 

&<? <7>?O-
F<< 

&<? 
?D>>?44>< 

�>4 66>44  6 
M>E??G4F4F<N 

�>F5?L=4O <>D. �<4=O= 

1 
�>F5?L=4O 3 

&�1 
219 35 ��' ?>475<=O= 2010-2012 

2 &�1 3 &�2 219 96 ��' ?>475<=O= 2010-2012 

3 &�2 3 &�3 219 99 ��' ?>475<=O= 2010-2012 

4 &�3-&�4 219 133 ��' ?>475<=O= 2010-2012 

5 &�4- &�5 219 135 ��' ?>475<=O= 2010-2012 

6 &�5-&�6 219 40 ��' ?>475<=O= 2010-2012 

7 &�6 3 &�6.1 50 120 ��' ?>475<=O= 2010-2012 

8 &�6 3 &�7 219 116 ��' ?>475<=O= 2010-2012 

9 &�7 - &�8 219 146 ��' ?>475<=O= 2010-2012 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

10 &�8 3 &�9 110 209 ��' ?>475<=O= 2010-2012 
11 &�9 3 4. 2 � 57 141 ��' ?>475<=O= 2010-2012 
12 &�9 3 &�10 90 66 ��' ?>475<=O= 2010-2012 
13 &�10 3 &�11 75  16 ��' ?>475<=O= 2010-2012 
14 &�11 3 &�12 75   26 ��' ?>475<=O= 2010-2012 

15 &�12 3 &�13 75 29 ��' ?>475<=O= 2010-2012 

16 &�13 3 &�14 75  44 ��' ?>475<=O= 2010-2012 

17 &�14 3 &�15 75 27 ��' ?>475<=O= 2010-2012 
18 &�15 3 &�16 75 25 ��' ?>475<=O= 2010-2012 

19 &�16 3 &�17 75 38 ��' ?>475<=O= 2010-2012 

20 &�17 3 &�17.1 40 41 ��' ?>475<=O= 2010-2012 

21 &�17.1 3 &�17.2 40 43 ��' ?>475<=O= 2010-2012 

22 &�17 3 &�18 63 31 ��' ?>475<=O= 2010-2012 

23 &�18 3 &�19 63 27 ��' ?>475<=O= 2010-2012 

24 &�19 3 &�20 50 35 ��' ?>475<=O= 2010-2012 
25 &�20 3 &�21 40 15 ��' ?>475<=O= 2010-2012 
26 &�21 3 &�22 40 36 ��' ?>475<=O= 2010-2012 
27 &�22 3 &�23 40 44 ��' ?>475<=O= 2010-2012 
28 &�18 3 &�18.1 50 29 ��' ?>475<=O= 2010-2012 
29 &�18.1 3 &�18.2 50 39 ��' ?>475<=O= 2010-2012 
30 &�18.2 3 &�18.3 40 37 ��' ?>475<=O= 2010-2012 
31 &�18.3 3 &�18.4 40 77 ��' ?>475<=O= 2010-2012 
32 &�18.4 3 &�18.5 40 27 ��' ?>475<=O= 2010-2012 

33 &�18.5 3 &�18.6 40 59 ��' ?>475<=O= 2010-2012 

34 &�10 3 &�24 90 47 ��' ?>475<=O= 2010-2012 

35 &�24 3 &�25 63 92 ��' ?>475<=O= 2010-2012 

36 &�25 3 &�26 63 31 ��' ?>475<=O= 2010-2012 
37 &�26 3 &�27 40 34 ��' ?>475<=O= 2010-2012 

38 &�27 3 &�28 40 46 ��' ?>475<=O= 2010-2012 

39 &�26 3 &�26.1 40 25 ��' ?>475<=O= 2010-2012 

40 &�26.1 3 &�26.2 40 77 ��' ?>475<=O= 2010-2012 
41 &�26.2 3 &�26.3 40 27 ��' ?>475<=O= 2010-2012 
42 &�24 3 &�29 75 60 ��' ?>475<=O= 2010-2012 
43 &�29 3 &�30 63 48 ��' ?>475<=O= 2010-2012 
44 &�30 3 &�31 63 33 ��' ?>475<=O= 2010-2012 
45 &�31 3 &�32 63 30 ��' ?>475<=O= 2010-2012 
46 &�32 3 &�33 63 20 ��' ?>475<=O= 2010-2012 
47 &�33 3 &�34 63 30 ��' ?>475<=O= 2010-2012 
48 &�34 3 &�35 50 20 ��' ?>475<=O= 2010-2012 
49 &�35 3 &�36 40 30 ��' ?>475<=O= 2010-2012 
50 &�36 3 &�37 40  20 ��' ?>475<=O= 2010-2012 
51 &�2 3 &�2.1 50 7 ��' ?>475<=O= 2010-2012 
52 &�2.1 3 &�2.2 50 24 ��' ?>475<=O= 2010-2012 
53 &�2.2 3 &�2.3 40 20 ��' ?>475<=O= 2010-2012 
54 &�2.3 3 &�2.4 40 20 ��' ?>475<=O= 2010-2012 
55 &�2.4 3 &�2.5 32 30 ��' ?>475<=O= 2010-2012 
56 &�3 3 &�3.1 50 7 ��' ?>475<=O= 2010-2012 
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57 &�3.1 3 &�3.2 50 27 ��' ?>475<=O= 2010-2012 
58 &�3.2 3 &�3.3 40 20 ��' ?>475<=O= 2010-2012 
59 &�3.3 3 &�3.4 40 20 ��' ?>475<=O= 2010-2012 
60 &�3.4 3 &�3.5 32 30 ��' ?>475<=O= 2010-2012 
61 &�3.5 3 &�3.6 32 15 ��' ?>475<=O= 2010-2012 
62 &�4 3 &�4.1 50 46 ��' ?>475<=O= 2010-2012 
63 &�4.1 3 &�4.2 40 51 ��' ?>475<=O= 2010-2012 
64 &�4.2 3 &�4.3 32 16 ��' ?>475<=O= 2010-2012 
65 &�2 3 &�38 110 49 ��' ?>475<=O= 2010-2012 
66 &�38 3 &�38.1 40 44 ��' ?>475<=O= 2010-2012 
67 &�38.1 3 &�38.2 40 16 ��' ?>475<=O= 2010-2012 
68 &�38.2 3 &�38.3 32 38 ��' ?>475<=O= 2010-2012 
69 &�38 3 &�39 75 73 ��' ?>475<=O= 2010-2012 
70 &�39 3 &�39.1 40 10 ��' ?>475<=O= 2010-2012 
71 &�39.1 3 &�39.2 40 36 ��' ?>475<=O= 2010-2012 
72 &�3.2 3 &�39.3 32 31 ��' ?>475<=O= 2010-2012 
73 &�39 3 &�40 63 42 ��' ?>475<=O= 2010-2012 
74 &�40 3 &�41  63 20 ��' ?>475<=O= 2010-2012 
75 &�41 3 &�42 63 21 ��' ?>475<=O= 2010-2012 
76 &�42 3 &�43 63 19 ��' ?>475<=O= 2010-2012 
77 &�43 3 &�44 50 18 ��' ?>475<=O= 2010-2012 
78 &�44 3 &�45 50 20 ��' ?>475<=O= 2010-2012 
79 &�45 3 &�46 40 20 ��' ?>475<=O= 2010-2012 
80 &�46 3 &�47 40 21 ��' ?>475<=O= 2010-2012 
81 &�47 3 &�48 32 20 ��' ?>475<=O= 2010-2012 
82 &�48 3 &�49 32 23 ��' ?>475<=O= 2010-2012 
83 &�1 3 &�50 219 106 ��' ?>475<=O= 2010-2012 
84 &�50 3 &�51 219 161 ��' ?>475<=O= 2010-2012 
85 &�51 3 &�52 219 119 ��' ?>475<=O= 2010-2012 
86 &�52 3 &�53  219 116 ��' ?>475<=O= 2010-2012 
87 &�53 3 &�54 219 120 ��' ?>475<=O= 2010-2012 
88 &�54 3 &�55 159 116 ��' ?>475<=O= 2010-2012 
89 &�55 3 &�56 159 124 ��' ?>475<=O= 2010-2012 
90 &�56 3 &�57 75 119 ��' ?>475<=O= 2010-2012 
91 &�57 3 &�58 50 119 ��' ?>475<=O= 2010-2012 
92 &�58 3 &�58.1 50 20 ��' ?>475<=O= 2010-2012 
93 &�58.1 3 &�58.2 50 40 ��' ?>475<=O= 2010-2012 
94 &�58.2 3 &�58.3 40 42 ��' ?>475<=O= 2010-2012 
95 &�58.3 3 &�58.4 40 28 ��' ?>475<=O= 2010-2012 
96 &�58.4 3 &�58-5 40 38 ��' ?>475<=O= 2010-2012 
97 &�57 3 &�57.1 63 50 ��' ?>475<=O= 2010-2012 
98 &�57.1 3 &�57.2 63 30 ��' ?>475<=O= 2010-2012 
99 &�57.2 3 &�57.3 63 20 ��' ?>475<=O= 2010-2012 

100 &�57.3 3 &�57.4 50 55 ��' ?>475<=O= 2010-2012 
101 &�57.4 3 &�57.5 40 20 ��' ?>475<=O= 2010-2012 
102 &�56 3 &�56.1 75 10 ��' ?>475<=O= 2010-2012 
103 &�56.1 3 &�56.2 75 25 ��' ?>475<=O= 2010-2012 
104 &�56.2 3 &�56.3 75 25 ��' ?>475<=O= 2010-2012 
105 &�56.3 3 &�56.4 75 25 ��' ?>475<=O= 2010-2012 
106 &�56.4 3 &�56.5 75 25 ��' ?>475<=O= 2010-2012 

107 &�56.5 3 &�56.6 75 25 ��' ?>475<=O= 2010-2012 
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108 &�56.6 3 &�56.7 75 25 ��' ?>475<=O= 2010-2012 
109 &�56.7 3 &�59 75 8 ��' ?>475<=O= 2010-2012 
110 &�59 3 &�59.1 40 71 ��' ?>475<=O= 2010-2012 
111 &�59.1 3 &�59.2 40 48 ��' ?>475<=O= 2010-2012 
112 &�59.2 3 &�59.3 40 42 ��' ?>475<=O= 2010-2012 
113 &�59.3 3 &�59.4 40 50 ��' ?>475<=O= 2010-2012 
114 &�59.4 3 &�59.5 32 34 ��' ?>475<=O= 2010-2012 
115 &�59.5 3 &�59.6 32 38 ��' ?>475<=O= 2010-2012 
116 &�55 3 &�55.1 90 16 ��' ?>475<=O= 2010-2012 
117 &�55.1 3 &�55.2  90 25 ��' ?>475<=O= 2010-2012 
118 &�55.2 3 &�55.3 90 25 ��' ?>475<=O= 2010-2012 
119 &�55.3 3 &�55.4 90 26 ��' ?>475<=O= 2010-2012 
120 &�55.4 3 &�55.5 75 20 ��' ?>475<=O= 2010-2012 
121 &�55.5 3 &�55.6 75 20 ��' ?>475<=O= 2010-2012 
122 &�55.6 3 &�55.7 75 20 ��' ?>475<=O= 2010-2012 
123 &�55.7 3 &�60 75 15 ��' ?>475<=O= 2010-2012 
124 &�60 - &�60.1 40 35 ��' ?>475<=O= 2010-2012 
125 &�60.1 3 &�60.2 40 36 ��' ?>475<=O= 2010-2012 
126 &�60.2 3 &�60.3 40 32 ��' ?>475<=O= 2010-2012 
127 &�60.3 3 &�60.4 32 33 ��' ?>475<=O= 2010-2012 
128 &�54 3 &�54.1 90 12 ��' ?>475<=O= 2010-2012 
129 &�54.1 3 &�54.2 90 28 ��' ?>475<=O= 2010-2012 
130 &�54.2- &�54.3 90 23 ��' ?>475<=O= 2010-2012 
131 &�54.3 3 &�54.4 90 25 ��' ?>475<=O= 2010-2012 
132 &�54.4 3 &�54.5 75 20 ��' ?>475<=O= 2010-2012 
133 &�54.5 3 54.6 75 25 ��' ?>475<=O= 2010-2012 
134 &�54.6 3 &�54.7 75 23 ��' ?>475<=O= 2010-2012 
135 &�54.7 3 &�61 75 10 ��' ?>475<=O= 2010-2012 

136 &�61 3 &�62 75 53 ��' ?>475<=O= 2010-2012 

137 &�62 3 &�63 75 32 ��' ?>475<=O= 2010-2012 

138 &�63 3 &�63.1 63 38 ��' ?>475<=O= 2010-2012 
139 &�63.1 3 &�63.2 63 30 ��' ?>475<=O= 2010-2012 
140 &�63.2 3 &�63.3 63 42 ��' ?>475<=O= 2010-2012 
141 &�63.3 3 &�63.4 50 40 ��' ?>475<=O= 2010-2012 
142 &�63.4 3 &�63.5 40 50 ��' ?>475<=O= 2010-2012 
143 &�62 3 &�64 63 34 ��' ?>475<=O= 2010-2012 
144 &�64 3 &�64.1 63 37 ��' ?>475<=O= 2010-2012 
145 &�64.1 3 &�64.2 63 32 ��' ?>475<=O= 2010-2012 
146 &�64.2 - &�64.3 63 40 ��' ?>475<=O= 2010-2012 
147 &�64.3 3 &�64.4 50 38 ��' ?>475<=O= 2010-2012 
148 &�64.4 3 &�64.5 40 30 ��' ?>475<=O= 2010-2012 
149 &�53 3 &�53.1 90 15 ��' ?>475<=O= 2010-2012 
150 &�53.1 3 &�53.2 90 40 ��' ?>475<=O= 2010-2012 
151 &�53.2 3 &�53.3 90 15 ��' ?>475<=O= 2010-2012 
152 &�53.3 3 &�53.4 75 36 ��' ?>475<=O= 2010-2012 
153 &�53.4 3 &�53.5 75 21 ��' ?>475<=O= 2010-2012 
154 &�53.5 3 &�70 75 42 ��' ?>475<=O= 2010-2012 
155 &�70 3 &�70.1 75 31 ��' ?>475<=O= 2010-2012 
156 &�70.1 3 &�70.2 75 37 ��' ?>475<=O= 2010-2012 
157 &�70.2 3 &�70.3 75 34 ��' ?>475<=O= 2010-2012 
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158 &�70.3 3 &�70.4 75  30 ��' ?>475<=O= 2010-2012 
159 &�70.4 3 &�70.5 75 31 ��' ?>475<=O= 2010-2012 
160 &�70.5 3 &�70.6 63 52 ��' ?>475<=O= 2010-2012 
161 &�70.6 3 &�70.7 50 71 ��' ?>475<=O= 2010-2012 
162 &�52 3 &�52.1 90 14 ��' ?>475<=O= 2010-2012 
163 &�52.1 3 &�52.2 90 30 ��' ?>475<=O= 2010-2012 
164 &�52.2 3 &�52.3 90 36 ��' ?>475<=O= 2010-2012 
165 &�52.3 3 &�52.4 90 26 ��' ?>475<=O= 2010-2012 
166 &�52.4 3 &�52.5 75 22 ��' ?>475<=O= 2010-2012 
167 &�52.5 3 &�52.6 75 27 ��' ?>475<=O= 2010-2012 
168 &�52.6 3 &�65 75 12 ��' ?>475<=O= 2010-2012 
169 &�65 3 &�66 75 54 ��' ?>475<=O= 2010-2012 
170 &�66 3 &�67 75 33 ��' ?>475<=O= 2010-2012 
171 &�67 3 &�67.1 63 42 ��' ?>475<=O= 2010-2012 
172 &�67.1 3 &�67.2 63 34 ��' ?>475<=O= 2010-2012 
173 &�67.2 3 &�67.3 50 54 ��' ?>475<=O= 2010-2012 
174 &�67.3 3 &�67.4 50 40 ��' ?>475<=O= 2010-2012 
175 &�67.4 3 &�67.5 40 28 ��' ?>475<=O= 2010-2012 
176 &�66 3 &�68 63 32 ��' ?>475<=O= 2010-2012 
177 &�68 3 &�68.1 63 42 ��' ?>475<=O= 2010-2012 
178 &�68.1 3 &�68.2 63 40 ��' ?>475<=O= 2010-2012 
179 &�68.2 3 &�68.3 50 54 ��' ?>475<=O= 2010-2012 
180 &�68.3 3 &�68.4 50 40 ��' ?>475<=O= 2010-2012 
181 &�68.4 3 &�68.5 32 40 ��' ?>475<=O= 2010-2012 
182 &�51 3 &�51.1 110 18 ��' ?>475<=O= 2010-2012 
183 &�51.1 3 &�51.2 110 20 ��' ?>475<=O= 2010-2012 
184 &�51.2 3 &�51.3 110 23 ��' ?>475<=O= 2010-2012 
185 &�51.3 3 &�51.4 110 25 ��' ?>475<=O= 2010-2012 
186 &�51.4 3 &�51.5 90 24 ��' ?>475<=O= 2010-2012 
187 &�51.5 3 &�51.6 90 25 ��' ?>475<=O= 2010-2012 
188 &�51.6 3 &�51.7 90 23 ��' ?>475<=O= 2010-2012 
189 &�51.7 3 &�69 90 8 ��' ?>475<=O= 2010-2012 
190 &�69 3 &�69.1 75 48 ��' ?>475<=O= 2010-2012 
191 &�69.1 3 &�69.2 75 24 ��' ?>475<=O= 2010-2012 
192 &�69.2 3 &�69.3 75 22 ��' ?>475<=O= 2010-2012 
193 &�69.3 3 &�69.4 63 27 ��' ?>475<=O= 2010-2012 
194 &�69.4 3 &�69.5 63 18 ��' ?>475<=O= 2010-2012 
195 &�69.5 3 &�69.6 63 71 ��' ?>475<=O= 2010-2012 
196 &�69.6 3&�69.7 50 25 ��' ?>475<=O= 2010-2012 
197 &�69.7 3 &�69.8 50 26 ��' ?>475<=O= 2010-2012 
198 &�69.8 3 &�69.9 40 27 ��' ?>475<=O= 2010-2012 

�F>7>: 8073 

�>F5?L=4O ?. -?<F4 

1 
�>F5?L=4O 3 

&�1 
219 26 ��' ?>475<=O= 2018 

2 &�1 3 &�2 159 53 ��' ?>475<=O= 2018 

3 &�2 3 &�3 159 35 ��' ?>475<=O= 2018 
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4 &�3 3 &�4 159 21 ��' ?>475<=O= 2018 

5 &�4 3 &�5 100 7 
�<=5D4?L=4O 

64F4 
?>475<=O= �5F 44==OE 

6 &�5 3 &�6 100 55 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

7 &�6 3 &�7 80 95 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

8 &�4 3 &�8 50 62 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

9 &�4 3 &�9 159 84 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

10 &�9 3 &�10 159 51 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

11 &�10 3 &�11 159 153 ��' 
�>475<-

=O=/557>4=
4?L=O= 

�5F 44==OE 

12 &�11 3 &�12 159  54 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

13 &�12 3 &�13 159 111 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

14 &�13 3 &�14 159 199 ��' ?>475<=O= 2020 
15 &�14 3 &�15 159 62 ��' ?>475<=O= 2020 
16 &�15 3 �/E 159 102 ��' ?>475<=O= 2020 

17 &�1 3 &�1.1 80 17 
�<=5D4?L=4O 

64F4 
6>74GL=O= 

�5F 44==OE 

18 
&�1.1 3 6<?O5 

4><4 
80 201 

�<=5D4?L=4O 
64F4 

6>74GL=O= 
�5F 44==OE 

19 
�>F5?L=4O 3 

&�1.2 
50 111 

�<=5D4?L=4O 
64F4 

6>74GL=O= 
�5F 44==OE 

�F>7>: 1499 
   

�>F5?L=4O E. �D5=E>>5 

1 
�>F5?L=4O - 

,>>?4 
76 72 

�<=5D4?L=4O 
64F4 

?>475<=O= 
�5F 44==OE 

2 ,>>?4 3 4. 16 40 57 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

3 ,>>?4 3 4. 14 40 93 
�<=5D4?L=4O 

64F4 
?>475<=O= 

�5F 44==OE 

�F>7>: 222 
   

�F>7> ?D>FO65==>EFL E5F5=, <: 9794 
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'4EFL 4. �>=O 45=EF6<O  

�>=4 45=EF6<O E<EF5<O F5??>E=4565=<O 3 F5DD<F>D<O ?>E5?5=<O, 7>D>4E>>-

7> >>DG74 <?< 55 G4EFL, 7D4=<FO >>F>D>= GEF4=46?<64NFEO ?> =4<5>?55 G44?5=-

=O< F>G>4< ?>4>?NG5=<O ?>FD55<F5?5= > F5??>6O< E5FO<, 6E>4OM<< 6 E<EF5<G 

F5??>E=4565=<O, 4 7>=4 45=EF6<O <EF>G=<>4 F5??>6>= M=5D7<< 3 F5DD<F>D<O ?>E5-

?5=<O, 7>D>4E>>7> >>DG74 <?< 55 G4EFL, 7D4=<FO >>F>D>= GEF4=46?<64NFEO 74>DO-

FO<< E5>F<>=<DGNM<<< 7446<6>4<< F5??>6>= E5F< E<EF5<O F5??>E=4565=<O. 

�E?< E<EF5<4 F5??>E=4565=<O >5D47>64=4 =4 5475 54<=EF65==>7> <EF>G=<>4 

F5??>FO, F> 7D4=<FO 57> 7>=O 45=EF6<O E>6?444NF E 7D4=<F4<< E<EF5<O F5??>-

E=4565=<O. &4><5 E<EF5<O F5??>E=4565=<O ?D<=OF> =47O64FL <7>?<D>64==O<<.

 $44<GE F5??>E=4565=<O 6 7>=5 45=EF6<O <7>?<D>64==>= E<EF5<O F5??>-

E=4565=<O 3 MF> D4EEF>O=<5 >F F>G>< E4<>7> G44?5==>7> ?D<E>54<=5=<O ?>FD55<-

F5?O 4> <EF>G=<>4 F5??>6>= M=5D7<<. 

�4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4 F5??>6O5 E5F< 6O?>?=5=O 6 ?>4-

75<=>< < 6>74GL=>< <E?>?=5=<<. �?<E4=<5 7>= 45=EF6<O <EF>G=<>>6 F5??>-

E=4565=<O E G>474=<5< ?5D5G=O ?>4>?NG5==OE >5N5>F>6 ?D<6545=> 6 F45?<F5 

4.1. 

&45?<F4 4.1 

�EF>G=<>< 
F5??>E=4565=<O 

�>=O 45=EF6<O <EF>G=<>>6 F5??>E=4565=<O 

�>F5?L=4O  
<>D. �<4=O= ?. 

-?<F4 

�4<<5=>64=<5 45>=5=F4 �4D5E 

�<?>= 4>< ?5D. �5D57>6O=, 4. 1 
�<?>= 4>< ?5D. �5D57>6O=, 4. 2 
�<?>= 4>< ?5D. �5D57>6O=, 4. 4 
�<?>= 4>< ?5D. �5D57>6O=, 4. 6 
�<?>= 4>< �<4=4O G?, 4>< 7 12 
�<?>= 4>< �<4=4O G?, 4>< 7 14 
�<?>= 4>< �<4=4O G?, 4>< 7 17 
�<?>= 4>< �<4=4O G?, 4>< 7 17/1 
�<?>= 4>< �<4=4O G?, 4>< 7 17/2 
�<?>= 4>< �<4=4O G?, 4>< 7 17/3 
�<?>= 4>< �<4=4O G?, 4>< 7 19 
�<?>= 4>< �<4=4O G?, 4>< 7 2 
�<?>= 4>< �<4=4O G?, 4>< 7 21 
�<?>= 4>< �<4=4O G?, 4>< 7 21/1 
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�<?>= 4>< �<4=4O G?, 4>< 7 21/3 
�<?>= 4>< �<4=4O G?, 4>< 7 21/4 
�<?>= 4>< �<4=4O G?, 4>< 7 23 
�<?>= 4>< �<4=4O G?, 4>< 7 27 
�<?>= 4>< �<4=4O G?, 4>< 7 29 

�<?>= 4>< �<4=4O G?, 4>< 7 4 
�<?>= 4>< �<4=4O G?, 4>< 7 4/1 
�<?>= 4>< �<4=4O G?, 4>< 7 4/2 
�<?>= 4>< �<4=4O G?, 4>< 7 9/4 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 10 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 12 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 2 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 4 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 6 
�<?>= 4>< �D<5=>= ?5D, 4>< 7 8 
�<?>= 4>< �<6=4O G?, 4>< 7 1 
�<?>= 4>< �<6=4O G?, 4>< 7 10 
�<?>= 4>< �<6=4O G?, 4>< 7 11 
�<?>= 4>< �<6=4O G?, 4>< 7 12 
�<?>= 4>< �<6=4O G?, 4>< 7 13 
�<?>= 4>< �<6=4O G?, 4>< 7 3 
�<?>= 4>< �<6=4O G?, 4>< 7 4 
�<?>= 4>< �<6=4O G?, 4>< 7 5 
�<?>= 4>< �<6=4O G?, 4>< 7 6 
�<?>= 4>< �<6=4O G?, 4>< 7 7 
�<?>= 4>< �<6=4O G?, 4>< 7 8 
�<?>= 4>< �<6=4O G?, 4>< 7 9 
�<?>= 4>< �>5D4O G?, 4>< 7 1 
�<?>= 4>< �>5D4O G?, 4>< 7 10 
�<?>= 4>< �>5D4O G?, 4>< 7 11 
�<?>= 4>< �>5D4O G?, 4>< 7 12 
�<?>= 4>< �>5D4O G?, 4>< 7 3 
�<?>= 4>< �>5D4O G?, 4>< 7 5 
�<?>= 4>< �>5D4O G?, 4>< 7 6 
�<?>= 4>< �>5D4O G?, 4>< 7 7 
�<?>= 4>< �>5D4O G?, 4>< 7 8 
�<?>= 4>< �>5D4O G?, 4>< 7 9 
�<?>= 4>< ?5D. �?5=>6O=, 4.1 
�<?>= 4>< ?5D. �?5=>6O=, 4.2 
�<?>= 4>< ?5D. �?5=>6O=, 4.3 
�<?>= 4>< ?5D. �?5=>6O=, 4.6 
�<?>= 4>< �?NG564O G?, 4>< 7 1 
�<?>= 4>< �?NG564O G?, 4>< 7 10 
�<?>= 4>< �?NG564O G?, 4>< 7 11 
�<?>= 4>< �?NG564O G?, 4>< 7 12 
�<?>= 4>< �?NG564O G?, 4>< 7 13 
�<?>= 4>< �?NG564O G?, 4>< 7 14 
�<?>= 4>< �?NG564O G?, 4>< 7 15 
�<?>= 4>< �?NG564O G?, 4>< 7 16 
�<?>= 4>< �?NG564O G?, 4>< 7 17 
�<?>= 4>< �?NG564O G?, 4>< 7 18 
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�<?>= 4>< �?NG564O G?, 4>< 7 19 
�<?>= 4>< �?NG564O G?, 4>< 7 2 
�<?>= 4>< �?NG564O G?, 4>< 7 20 
�<?>= 4>< �?NG564O G?, 4>< 7 21 
�<?>= 4>< �?NG564O G?, 4>< 7 22 
�<?>= 4>< �?NG564O G?, 4>< 7 23 
�<?>= 4>< �?NG564O G?, 4>< 7 24 
�<?>= 4>< �?NG564O G?, 4>< 7 25 
�<?>= 4>< �?NG564O G?, 4>< 7 26 
�<?>= 4>< �?NG564O G?, 4>< 7 27 
�<?>= 4>< �?NG564O G?, 4>< 7 28 
�<?>= 4>< �?NG564O G?, 4>< 7 29 
�<?>= 4>< �?NG564O G?, 4>< 7 3 
�<?>= 4>< �?NG564O G?, 4>< 7 30 
�<?>= 4>< �?NG564O G?, 4>< 7 31 
�<?>= 4>< �?NG564O G?, 4>< 7 32 
�<?>= 4>< �?NG564O G?, 4>< 7 33 
�<?>= 4>< �?NG564O G?, 4>< 7 35 
�<?>= 4>< �?NG564O G?, 4>< 7 37 
�<?>= 4>< �?NG564O G?, 4>< 7 39 
�<?>= 4>< �?NG564O G?, 4>< 7 4 
�<?>= 4>< �?NG564O G?, 4>< 7 41 
�<?>= 4>< �?NG564O G?, 4>< 7 43 
�<?>= 4>< �?NG564O G?, 4>< 7 45 
�<?>= 4>< �?NG564O G?, 4>< 7 47 
�<?>= 4>< �?NG564O G?, 4>< 7 49 
�<?>= 4>< �?NG564O G?, 4>< 7 5 
�<?>= 4>< �?NG564O G?, 4>< 7 51 
�<?>= 4>< �?NG564O G?, 4>< 7 6 
�<?>= 4>< �?NG564O G?, 4>< 7 7 
�<?>= 4>< �?NG564O G?, 4>< 7 8 
�<?>= 4>< �?NG564O G?, 4>< 7 9 
�<?>= 4>< �4=E>4O G?, 4>< 7 7 
�<?>= 4>< �4=E>4O G?, 4>< 7 8 �6. 1 
�<?>= 4>< �54>6O= ?5D, 4>< 7 1 
�<?>= 4>< �54>6O= ?5D, 4>< 7 10 
�<?>= 4>< �54>6O= ?5D, 4>< 7 11 
�<?>= 4>< �54>6O= ?5D, 4>< 7 12 
�<?>= 4>< �54>6O= ?5D, 4>< 7 14 
�<?>= 4>< �54>6O= ?5D, 4>< 7 3 
�<?>= 4>< �54>6O= ?5D, 4>< 7 4 
�<?>= 4>< �54>6O= ?5D, 4>< 7 5 
�<?>= 4>< �54>6O= ?5D, 4>< 7 6 
�<?>= 4>< �54>6O= ?5D, 4>< 7 7 
�<?>= 4>< �54>6O= ?5D, 4>< 7 8 
�<?>= 4>< �54>6O= ?5D, 4>< 7 9 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 1 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 10 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 11 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 12 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 13 
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�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

�<?>= 4>< �D5E>6O= ?5D, 4>< 7 14 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 2 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 6 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 7 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 8 
�<?>= 4>< �D5E>6O= ?5D, 4>< 7 9 
�<?>= 4>< �FD44=4O G?, 4>< 7 1 
�<?>= 4>< �FD44=4O G?, 4>< 7 10 
�<?>= 4>< �FD44=4O G?, 4>< 7 11 
�<?>= 4>< �FD44=4O G?, 4>< 7 12 
�<?>= 4>< �FD44=4O G?, 4>< 7 13 
�<?>= 4>< �FD44=4O G?, 4>< 7 14 
�<?>= 4>< �FD44=4O G?, 4>< 7 2 
�<?>= 4>< �FD44=4O G?, 4>< 7 3 
�<?>= 4>< �FD44=4O G?, 4>< 7 4 
�<?>= 4>< �FD44=4O G?, 4>< 7 5 
�<?>= 4>< �FD44=4O G?, 4>< 7 6 
�<?>= 4>< �FD44=4O G?, 4>< 7 7 
�<?>= 4>< �FD44=4O G?, 4>< 7 8 
�<?>= 4>< �FD44=4O G?, 4>< 7 9 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 1 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 10 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 11 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 13 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 15 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 17 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 19 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 2 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 3 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 5 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 6 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 7 
�<?>= 4>< �D<>75D=4O G?, 4>< 7 9 
�<?>= 4>< $O5<=>6O= ?5D, 4>< 7 7 
�<?>= 4>< %65F?4O G?, 4>< 7 1 
�<?>= 4>< %65F?4O G?, 4>< 7 11 
�<?>= 4>< %65F?4O G?, 4>< 7 13 
�<?>= 4>< %65F?4O G?, 4>< 7 17 
�<?>= 4>< %65F?4O G?, 4>< 7 3 
�<?>= 4>< %65F?4O G?, 4>< 7 5 
�<?>= 4>< %65F?4O G?, 4>< 7 7 
�<?>= 4>< %65F?4O G?, 4>< 7 9 
�<?>= 4>< %<5<DE><= FD4>F G?, 4>< 7 10 
�<?>= 4>< %<5<DE><= FD4>F G?, 4>< 7 2 
�<?>= 4>< %<5<DE><= FD4>F G?, 4>< 7 6 
�<?>= 4>< %<5<DE><= FD4>F G?, 4>< 7 8 
�<?>= 4>< &<E4O G?, 4>< 7 1 
�<?>= 4>< &<E4O G?, 4>< 7 11 
�<?>= 4>< &<E4O G?, 4>< 7 13 
�<?>= 4>< &<E4O G?, 4>< 7 15 
�<?>= 4>< &<E4O G?, 4>< 7 17 
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�<?>= 4>< &<E4O G?, 4>< 7 19 
�<?>= 4>< &<E4O G?, 4>< 7 1� 
�<?>= 4>< &<E4O G?, 4>< 7 1� 
�<?>= 4>< &<E4O G?, 4>< 7 21 
�<?>= 4>< &<E4O G?, 4>< 7 23 
�<?>= 4>< &<E4O G?, 4>< 7 25 
�<?>= 4>< &<E4O G?, 4>< 7 27 
�<?>= 4>< &<E4O G?, 4>< 7 29 
�<?>= 4>< &<E4O G?, 4>< 7 3 
�<?>= 4>< &<E4O G?, 4>< 7 31 
�<?>= 4>< &<E4O G?, 4>< 7 33 
�<?>= 4>< &<E4O G?, 4>< 7 35 
�<?>= 4>< &<E4O G?, 4>< 7 5 
�<?>= 4>< &<E4O G?, 4>< 7 7 
�<?>= 4>< &<E4O G?, 4>< 7 9 
�<?>= 4>< 'NF=4O G?, 4>< 7 10 
�<?>= 4>< 'NF=4O G?, 4>< 7 12 
�<?>= 4>< 'NF=4O G?, 4>< 7 13 
�<?>= 4>< 'NF=4O G?, 4>< 7 15 
�<?>= 4>< 'NF=4O G?, 4>< 7 16 
�<?>= 4>< 'NF=4O G?, 4>< 7 17 
�<?>= 4>< 'NF=4O G?, 4>< 7 19 
�<?>= 4>< 'NF=4O G?, 4>< 7 2 
�<?>= 4>< 'NF=4O G?, 4>< 7 21 
�<?>= 4>< 'NF=4O G?, 4>< 7 23 
�<?>= 4>< 'NF=4O G?, 4>< 7 25 
�<?>= 4>< 'NF=4O G?, 4>< 7 4 
�<?>= 4>< 'NF=4O G?, 4>< 7 5 
�<?>= 4>< 'NF=4O G?, 4>< 7 6 
�<?>= 4>< 'NF=4O G?, 4>< 7 7 
�<?>= 4>< 'NF=4O G?, 4>< 7 8 
�<?>= 4>< 'NF=4O G?, 4>< 7 9 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 1 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 10 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 2 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 4 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 5 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 6 
�<?>= 4>< &65F=>= 5G?L64D G?, 4>< 7 8 
�<?>= 4>< &5=FD4?L=4O G?, 4>< 7 53 
�<?>= 4>< &5=FD4?L=4O G?, 4>< 7 55 
�<?>= 4>< &5=FD4?L=4O G?, 4>< 7 59 
�<?>= 4>< -?<F=4O G?. 4>< 71 
�<?>= 4>< -?<F=4O G?. 4>< 76 

 
 
 
 
 
�>F5?L=4O ?. -?<F4 

�=>7>>64DF<D=O= 6<?>= 4>< �<>D>D4=>= G?., 4>< 7 1 
�=>7>>64DF<D=O= 6<?>= 4>< �<>D>D4=>= G?., 4>< 7 2 
�=>7>>64DF<D=O= 6<?>= 4>< �<>D>D4=>= G?., 4>< 7 3 

-?<F>6E>4O %�,  �<>D>D4=>= G?., 4>< 7 7 
-?<F>6E><= 45FE><= E44 �>?>E>> �<>D>D4=>= G?., 4>< 7 4 

�>< >G?LFGDO �46>4E>4O G?., 4>< 7 14 
-?<F>6E><= 45FE><= E44 �46>4E>4O G?., 4>< 7 13 «�» 
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�<?>= 4>< %>65FE>4O G?., 4>< 7 13 
�<?>= 4>< %>65FE>4O G?., 4>< 7 15 
�<?>= 4>< %>65FE>4O G?., 4>< 7 17 
�<?>= 4>< %>65FE>4O G?., 4>< 7 3 
�<?>= 4>< %>65FE>4O G?., 4>< 7 5 
�<?>= 4>< %>65FE>4O G?., 4>< 7 7 

 
�>F5?L=4O  

E. �D5=E>>5 

�D5=E>4O %�, �4G=O= ?5D., 4>< 7 3 
�=>7>>64DF<D=O= 6<?>= 4>< �4G=O= ?5D., 4>< 7 1 
�=>7>>64DF<D=O= 6<?>= 4>< �4G=O= ?5D., 4>< 7 1 «�» 

�<?>= 4>< �4G=O= ?5D., 4>< 7 5 
�<?>= 4>< �4G=O= ?5D., 4>< 7 1 «�» 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

�
74

<
. <

=6
. 7

 

 

�
>4

?.
 <

 4
4F

4 

 

�
=6

. 7
 ?

>4
?.

 

 

  

      
��&'�����&�/ %%��/ &����%�������/ �'��&����,���� 

 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
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'4EFL 5. &5??>6O5 =47DG7>< ?>FD55<F5?5= F5??>6>= M=5D7<< 6 7>=5 
45=EF6<O <EF>G=<>4 F5??>6>= M=5D7<<. 

�>=O 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<< ?D<6545=O 6 ?D<?>65=<< �. 

�=4G5=<O ?>FD55?5=<O F5??>6>= M=5D7<< 6 D4EG5F=OE M?5<5=F4E F5DD<F>D<-

4?L=>7> 45?5=<O ?D< D4EG5F=OE F5<?5D4FGD4E =4DG6=>7> 6>74GE4 ?D54EF46?5=O 6 

F45?<F5 5.1 

&45?<F4 5.1 

-?5<5=F F5DD<F>D<4?L=>-
7> 45?5=<O (>444EFD>6O5 

GG4EF><) 

�>?<G5-
EF6> ?>-
FD55<F5-

?5= 

�=4G5=<5 ?>FD55?5=<O F5??>6>= M=5D7<< 

?D< D4EG5F=>= F5<-
?5D4FGD5 =4DG6=>7>  

6>74GE4, �>4?/G4E 

74 >F>?<F5?L-
=O= ?5D<>4, 

�>4? 

74 7>4, 
�>4? 

�>F5?L=4O <>D. �<4=O= ?. 
-?<F4 193 3,85 5602,33 5602,33 

�>F5?L=4O ?. -?<F4 13 2,52 4123,21 4123,21 

�>F5?L=4O E. �D5=E>>5 5 0,15 165 165 

 

�>FD55?5=<5 F5??>6>= M=5D7<< ?D< D4EG5F=OE F5<?5D4FGD4E =4DG6=>7> 

6>74GE4 6 7>=5 45=EF6<O <EF>G=<>>6 F5??>6>= M=5D7<< E D475<6>>= F5??>6OE 

=47DG7>> =4 <4>E<<4?L=>5 ?>FD55?5=<5 F5??>6>= M=5D7<< =4 >F>??5=<5, 65=F<?O-

F<N, 7>DOG55 6>4>E=4565=<5 < F5E=>?>7<G5E><5 =G64O ?D<6545=O 6 F45?<F5 5.2 

&45?<F4 5.2  

7 
?/? 

�EF>G=<> F5??>6>= 
M=5D7<< 

�>4>?NG5==4O =47DG7>4, �>4?/G4E 

�E57> >F>??5=<5 65=F<?OF<O ��% &5E=>?>7<O 

1 
�>F5?L=4O <>D. �<4=O= 
?. -?<F4 3,85 3,85 - - - 

2 �>F5?L=4O ?. -?<F4 2,52 2,52 - - - 

3 �>F5?L=4O E. �D5=E>>5 0,15 0,15 - - - 
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'4EFL 6. �4?4=EO F5??>6>= <>M=>EF< < F5??>6>= =47DG7>< 6 7>=5 
45=EF6<O <EF>G=<>4 F5??>6>= M=5D7<< 

�4?4=E F5??>6>= <>M=>EF< ?>4D47G<5645F E>>F65FEF6<5 ?>4>?NG5==>= 

F5??>6>= =47DG7>< F5??>6>= <>M=>EF< <EF>G=<>>6. &5??>64O =47DG7>4 ?>FD55<-

F5?5= D4EEG<FO645FEO >4> =5>5E>4<<>5 >>?<G5EF6> F5??>6>= M=5D7<< =4 ?>445D-

64=<5 =>D<4F<6=>= F5<?5D4FGDO 6>74GE4 6 ?><5M5=<OE ?>FD55<F5?O ?D< D4EG5F-

=>= F5<?5D4FGD5 =4DG6=>7> 6>74GE4. �4 D4EG5F=GN F5<?5D4FGDG =4DG6=>7> 6>7-

4GE4 ?D<=<<45FEO F5<?5D4FGD4 6>74GE4 E>?>4=>= ?OF<4=56><, >55E?5G5==>EFLN 

0.90 3 <<=GE 38°%. 

�4?4=E F5??>6>= <>M=>EF< ?D54EF46?5= 6 F45?<F5 6.1 

&45?<F4 6.1 

7 
?/? 

�EF>G=<>  
F5??>6>= 
 M=5D7<< 

'
EF

4=
>6

?5
==

4O
 <

>M
=>

EF
L,

 
�

>4
?/

G4
E 

$
4E

?>
?4

74
5<

4O
 <

>M
=>

EF
L,

 
�

>4
?/

G4
E 

%
>5

EF
65

==
O

5 
 =

G6
4O

, 
�

>4
?/

G4
E 

&
5?

?>
64

O 
<

>M
=>

EF
L 

=5
FF

>,
 

�
>4

?/
G4

E 

�
>F

5D
< 

F5
??

>6
>=

 <
>M

=>
-

EF
< 

6 
F5

??
>6

O
E 

E5
FO

E,
 

�
>4

?/
G4

E 

&
5?

?>
64

O 
=4

7D
G7

>4
 =

4 
?>

-
FD

55
<F

5?
5=

, �
>4

?/
G4

E 

$
57

5D
6 

/ 4
5D

<F
<F

 F
5?

?>
6>

= 
<

>M
=>

EF
< 

=5
FF

>,
 �

>4
?/

G4
E 

1 
�>F5?L=4O  

<>D. �<4=O= ?. 
-?<F4 

6,22 1,41 0,0011 1,40 0,75 3,85 -2,440 

2 
�>F5?L=4O  
?. -?<F4 4,46 1,113 0,005 3,345 0,55 2,232 +0,558 

3 
�>F5?L=4O  

E. �D5=E>>5 1,26 0,795 0,0001 0,945 0,05 0,15 +0,789 

 
 
�4> 6<4=> <7 F45?<FO EGM5EF6G5F 45D<F<F <>M=>EF< ?> >>F5?L=>= <>D. 

�<4=O= ?. -?<F4. �4?<G<5 D575D64 <>M=>EF< 6 E<EF5<4E F5??>E=4565=<O <>65F 

?>76>?<FL ?>4>?NG<FL =>6OE ?>FD55<F5?5= < >><?5=E<D>64FL 6OE>4 <7 EFD>O >4-

=>7> <7 <EF>G=<>>6. 

'4EFL 7. �4?4=EO F5??>=>E<F5?O 

�EF>G=<>< F5??>6>= M=5D7<< -?<F>6E>>7> E5?LE>65F4 6>4>?>47>F>6<F5?L-

=O<< GEF4=>6>4<< =5 >5>DG4>64=O. 

&5??>=>E<F5?L 6 E<EF5<4E F5??>E=4565=<O -?<F>6E>>7> E5?LE>65F4 ?D54=4-
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�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

7=4G5= 4?O ?5D544G< F5??>6>= M=5D7<<. 

'4EFL 8. &>??<6=O5 54?4=EO <EF>G=<>>6 F5??>6>= M=5D7<< < E<EF5<4 
>55E?5G5=<O F>??<6><. 

�>EF46>4 < ED4=5=<5 D575D6=>7>/464D<==>7> F>??<64 =5 ?D54GE<>FD5=O. 

�55E?5G5=<5 F>??<6>< ?D><76>4<FEO =44?564M<< >5D47>< 6 E>>F65FEF6<< E 45=-

EF6GNM<<< =>D<4F<6=O<< 4>>G<5=F4<<. � >4G5EF65 >E=>6=>7> F>??<64 <E?>?L-

7G5FEO 5GDO= G7>?L 3�$. %4D4>F5D<EF<>4 F>??<64 ?D54EF46?5=4 6 F45?<F5 8.1. 

&45?<F4 8.1 

 

%G<<4D=>5 ?>FD55?5=<5 F>??<64 <EF>G=<>4<< F5??>6>= M=5D7<< 4?O =G64 

F5??>E=4565=<O < 65?<G<=O 6OD45>F>< F5??>6>= M=5D7<< ?D54EF46?5=> 6 F45?<F5 

8.2. 

&45?<F4 8.2. 
�EF>G=<> F5??>6>= M=5D-

7<< 
$4EG5F=4O 7>4>64O 6OD45>F>4 

F5??>6>= M=5D7<< E GG5F>< 
?>F5DL, �>4?/7>4 

$4EG5F=>5 ?>FD55?5=<5 F>??<-
64, F.G.F/7>4 

�>F5?L=4O <>D. �<4=O= ?. 
-?<F4 

5602,33 6373 

�>F5?L=4O ?. -?<F4 4123,21 2354 
�>F5?L=4O E. �D5=E>>5 165 1025 

 

 

 

 

 

 

 

 

 

 

 

 

�<4 F>??<64 �5EF> ?>EF46>< 
�<7L4O F5??>F4 E7>-

D4=<O, �>4?/>7. 
�D<<5G4=<5 

�GDO= G7>?L 3�$ �4?4EF<=E><= D47D57 3250 D47<5D >GE>4 0-300 << 
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'4EFL 9. �4456=>EFL F5??>E=4565=<O 

�F5=>4 =4456=>EF< F5??>E=4565=<O D47D454FO64NFEO 6 E>>F65FEF6<< E 

?>4?G=>F>< «<» ?G=>F4 24 7?46O 1 < ?G=>F4 46 «�>EF4=>6?5=<O �D46<F5?LEF64 

$>EE<=E>>= $545D4F<< >F 22.02.2012 7. 7154 «� FD55>64=<OE > EE5<4< F5??>-

E=4565=<O, ?>DO4>G <E D47D45>F>< < GF65D645=<O» (&D55>64=<O > EE5<4< F5??>-

E=4565=<O)». �>D<4F<6=O5 FD55>64=<O > =44U6=>EF< F5??>E=4565=<O GEF4=>6-

?5=O 6 %�<� 41.02.2003 «&5??>6O5 E5F<» 6 G4EF< ?G=>F>6 6.27-6.31 D4745?4 

«�4456=>EFL». 

� %�<� 41.02.2003 =4456=>EFL F5??>E=4565=<O >?D545?O5FEO ?> E?>E>5=>-

EF< ?D>5>F<DG5<OE < 45=EF6GNM<E <EF>G=<>>6 F5??>FO, F5??>6OE E5F5= < 6 F5-

?>< E<EF5< F5=FD4?<7>64==>7> F5??>E=4565=<O >55E?5G<64FL 6 F5G5=<5 7444==>-

7> 6D5<5=< FD55G5<O5 D56<<O, ?4D4<5FDO < >4G5EF6> F5??>E=4565=<O (>F>??5-

=<O, 65=F<?OF<<, 7>DOG57> 6>4>E=4565=<O, 4 F4>65 F5E=>?>7<G5E><E ?>FD55=>-

EF5= ?D54?D<OF<= 6 ?4D5 < 7>DOG5= 6>45) >55E?5G<64FL =>D<4F<6=O5 ?>>474F5?< 

65D>OF=>EF< 557>F>47=>= D45>FO [$], >>MDD<F<5=F 7>F>6=>EF< [�7], 6<6GG5EF< 

[�].  

$4EG5F ?>>474F5?5= E<EF5<O E GG5F>< =4456=>EF< 4>?65= ?D><76>4<FLEO 

4?O >464>7> ?>FD55<F5?O. �D< MF>< <<=<<4?L=> 4>?GEF<<O5 ?>>474F5?< 65D>OF-

=>EF< 557>F>47=>= D45>FO E?54G5F ?D<=<<4FL 4?O:  

-  <EF>G=<>4 F5??>FO $<F = 0,97;   

- F5??>6OE E5F5= $FE = 0,9;   

-  ?>FD55<F5?O F5??>FO $?F = 0,99;   

- %&& 6 F5?>< $EFF = 0,9E0,97E0,99 = 0,86.  

� =4EF>OM55 6D5<O =5 EGM5EF6G5F >5M5= <5F>4<>< >F5=>< =4456=>EF< E<-

EF5< >><<G=4?L=>7> F5??>E=4565=<O ?> 6E5< <?< 5>?LL<=EF6G ?>>474F5?5= 

=4456=>EF<. �?O >F5=>< <E?>?L7GNFEO F4><5 ?>>474F5?<, >4> 65D>OF=>EFL 557>F-

>47=>= D45>FO %&&; 7>F>6=>EFL < 6<6GG5EFL. 

� >E=>6G D4EG5F4 65D>OF=>EF< 557>F>47=>= D45>FO E<EF5<O ?>?>65=> ?>=O-

F<5 ??>F=>EF< ?>F>>4 >F>47>6 Ë, (1/><.7>4). �D< MF>< E4<4 65D>OF=>EFL >F>474 E<-
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EF5<O D46=4 ?D><76545=<N ??>F=>EF< ?>F>>4 >F>47>6 =4 4?<=G FDG5>?D>6>44 

(><) < 6D5<5=< =45?N45=<O (7>4). 

�5D>OF=>EFL 557>F>47=>= D45>FO [$] >?D545?O5FEO ?> D>D<G?5: 

 

$ = 5��                                 (9.1) 

745,  

Ë 3 ??>F=>EFL ?>F>>4 GG<FO645<OE >F>47>6, E>?D>6>644NM<EEO E=<65=<5< ?>-

44G< F5??4 ?>FD55<F5?O< (1/><.7>4): 

 

� = 4 × 	 × 
� × �
.�
�                 (9.2) 

745, 

4 3 M<?<D<G5E><= >>MDD<F<5=F, ?D<=<<45FEO 0,00003; 

m 3 M<?<D<G5E><= >>MDD<F<5=F ?>F>>4 >F>47>6, ?D<=<<45FEO 1; 

KE 3 >>MDD<F<5=F, GG<FO64NM<= EF4D5=<5 >>=>D5F=>7> GG4EF>4 F5??>E5F<. �D< 

?D>5>F<D>64=<< �E=1. �> 6E5E 4DG7<E E?GG4OE D4EEG<FO645FEO ?> D>D<G?5: 

 


� = 3 × ��.�                        (9.3) 

� = n/n
                            (9.4) 

 

745,  

� 3 <=45>E GFD4FO D5EGDE4; 

n 36>7D4EF FDG5>?D>6>44, 7>4; 

n
3 D4EG5F=O= ED>> E?G65O FDG5>?D>6>44, 7>4. 

$4EG5F 6O?>?=O5FEO 4?O >464>7> GG4EF>4 F5??>6>= E5F<, 6E>4OM57> 6 ?GFL >F <E-

F>G=<>4 4> 45>=5=F4 < E6545= 6 F45?<FG 9.1.  
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&45?<F4 9.1 
 

7 ?/? �4<<5=>64=<5 GG4EF>4 
�>4 66>44  6 

M>E??G4F4F<N 

�4DG6=O= 
4<4<5FD FDG-
5>?D>6>44, 

<< 

�?>F=>EFL 
?>F>>>6 
>F>47>6 

�5D>OF=>EFL 
557>F>47=>= 

D45>FO 
�E 

�>F5?L=4O <>D. �<4=O= ?. -?<F4 

1 �>F5?L=4O 3 &�1 2010-2012 219 0,0001819 0,9998194 8,313841 

2 &�1 3 &�2 2010-2012 219 0,000157 0,9998441 8,313841 

3 &�2 3 &�3 2010-2012 219 0,000157 0,9998441 8,313841 

4 &�3-&�4 2010-2012 219 0,000157 0,9998441 8,313841 

5 &�4- &�5 2010-2012 219 0,000157 0,9998441 8,313841 

6 &�5-&�6 2010-2012 219 0,000157 0,9998441 8,313841 

7 &�6 3 &�6.1 2010-2012 50 0,000157 0,9998441 8,313841 

8 &�6 3 &�7 2010-2012 219 0,000157 0,9998441 8,313841 

9 &�7 - &�8 2010-2012 219 0,000157 0,9998441 8,313841 

10 &�8 3 &�9 2010-2012 110 0,0001819 0,9998194 8,313841 

11 &�9 3 4. 2 � 2010-2012 57 0,0001701 0,999831 8,313841 

12 &�9 3 &�10 2010-2012 90 0,000157 0,9998441 8,313841 

13 &�10 3 &�11 2010-2012 75  0,0001375 0,9998635 8,313841 

14 &�11 3 &�12 2010-2012 75   0,0001375 0,9998635 8,313841 

15 &�12 3 &�13 2010-2012 75 0,000157 0,9998441 8,313841 

16 &�13 3 &�14 2010-2012 75  0,000157 0,9998441 8,313841 

17 &�14 3 &�15 2010-2012 75 0,000157 0,9998441 8,313841 

18 &�15 3 &�16 2010-2012 75 0,0001375 0,9998635 8,313841 

19 &�16 3 &�17 2010-2012 75 0,000157 0,9998441 8,313841 

20 &�17 3 &�17.1 2010-2012 40 0,0001375 0,9998635 8,313841 

21 &�17.1 3 &�17.2 2010-2012 40 0,0001375 0,9998635 8,313841 

22 &�17 3 &�18 2010-2012 63 0,0001701 0,999831 8,313841 

23 &�18 3 &�19 2010-2012 63 0,000157 0,9998441 8,313841 

24 &�19 3 &�20 2010-2012 50 0,000157 0,9998441 8,313841 

25 &�20 3 &�21 2010-2012 40 0,000157 0,9998441 8,313841 

26 &�21 3 &�22 2010-2012 40 0,0001508 0,9998502 8,313841 

27 &�22 3 &�23 2010-2012 40 0,0001701 0,999831 8,313841 

28 &�18 3 &�18.1 2010-2012 50 0,0001508 0,9998502 8,313841 

29 &�18.1 3 &�18.2 2010-2012 50 0,0001701 0,999831 8,313841 

30 &�18.2 3 &�18.3 2010-2012 40 0,0001375 0,9998635 8,313841 

31 &�18.3 3 &�18.4 2010-2012 40 0,0001375 0,9998635 8,313841 

32 &�18.4 3 &�18.5 2010-2012 40 0,0001375 0,9998635 8,313841 

33 &�18.5 3 &�18.6 2010-2012 40 0,0001375 0,9998635 8,313841 

34 &�10 3 &�24 2010-2012 90 0,0001624 0,9998387 8,313841 

35 &�24 3 &�25 2010-2012 63 0,000157 0,9998441 8,313841 

36 &�25 3 &�26 2010-2012 63 0,0001375 0,9998635 8,313841 
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37 &�26 3 &�27 2010-2012 40 0,0001375 0,9998635 8,313841 

38 &�27 3 &�28 2010-2012 40 0,0001375 0,9998635 8,313841 

39 &�26 3 &�26.1 2010-2012 40 0,0001375 0,9998635 8,313841 

40 &�26.1 3 &�26.2 2010-2012 40 0,0001375 0,9998635 8,313841 

41 &�26.2 3 &�26.3 2010-2012 40 0,0001375 0,9998635 8,313841 

42 &�24 3 &�29 2010-2012 75 0,0001375 0,9998635 8,313841 

43 &�29 3 &�30 2010-2012 63 0,0001375 0,9998635 8,313841 

44 &�30 3 &�31 2010-2012 63 0,0001508 0,9998502 8,313841 

45 &�31 3 &�32 2010-2012 63 0,0001819 0,9998194 8,313841 

46 &�32 3 &�33 2010-2012 63 0,000157 0,9998441 8,313841 

47 &�33 3 &�34 2010-2012 63 0,000157 0,9998441 8,313841 

48 &�34 3 &�35 2010-2012 50 0,000157 0,9998441 8,313841 

49 &�35 3 &�36 2010-2012 40 0,000157 0,9998441 8,313841 

50 &�36 3 &�37 2010-2012 40  0,000157 0,9998441 8,313841 

51 &�2 3 &�2.1 2010-2012 50 0,000157 0,9998441 8,313841 

52 &�2.1 3 &�2.2 2010-2012 50 0,000157 0,9998441 8,313841 

53 &�2.2 3 &�2.3 2010-2012 40 0,000157 0,9998441 8,313841 

54 &�2.3 3 &�2.4 2010-2012 40 0,0001819 0,9998194 8,313841 

55 &�2.4 3 &�2.5 2010-2012 32 0,0001701 0,999831 8,313841 

56 &�3 3 &�3.1 2010-2012 50 0,000157 0,9998441 8,313841 

57 &�3.1 3 &�3.2 2010-2012 50 0,0001375 0,9998635 8,313841 

58 &�3.2 3 &�3.3 2010-2012 40 0,0001375 0,9998635 8,313841 

59 &�3.3 3 &�3.4 2010-2012 40 0,000157 0,9998441 8,313841 

60 &�3.4 3 &�3.5 2010-2012 32 0,000157 0,9998441 8,313841 

61 &�3.5 3 &�3.6 2010-2012 32 0,000157 0,9998441 8,313841 

62 &�4 3 &�4.1 2010-2012 50 0,0001375 0,9998635 8,313841 

63 &�4.1 3 &�4.2 2010-2012 40 0,000157 0,9998441 8,313841 

64 &�4.2 3 &�4.3 2010-2012 32 0,0001375 0,9998635 8,313841 

65 &�2 3 &�38 2010-2012 110 0,0001375 0,9998635 8,313841 

66 &�38 3 &�38.1 2010-2012 40 0,0001701 0,999831 8,313841 

67 &�38.1 3 &�38.2 2010-2012 40 0,000157 0,9998441 8,313841 

68 &�38.2 3 &�38.3 2010-2012 32 0,000157 0,9998441 8,313841 

69 &�38 3 &�39 2010-2012 75 0,000157 0,9998441 8,313841 

70 &�39 3 &�39.1 2010-2012 40 0,0001508 0,9998502 8,313841 

71 &�39.1 3 &�39.2 2010-2012 40 0,0001701 0,999831 8,313841 

72 &�39.2 3 &�39.3 2010-2012 32 0,0001508 0,9998502 8,313841 

73 &�39 3 &�40 2010-2012 63 0,0001701 0,999831 8,313841 

74 &�40 3 &�41  2010-2012 63 0,0001375 0,9998635 8,313841 

75 &�41 3 &�42 2010-2012 63 0,0001375 0,9998635 8,313841 

76 &�42 3 &�43 2010-2012 63 0,0001375 0,9998635 8,313841 

77 &�43 3 &�44 2010-2012 50 0,0001375 0,9998635 8,313841 

78 &�44 3 &�45 2010-2012 50 0,0001624 0,9998387 8,313841 

79 &�45 3 &�46 2010-2012 40 0,000157 0,9998441 8,313841 

80 &�46 3 &�47 2010-2012 40 0,0001375 0,9998635 8,313841 
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81 &�47 3 &�48 2010-2012 32 0,0001375 0,9998635 8,313841 

82 &�48 3 &�49 2010-2012 32 0,0001375 0,9998635 8,313841 

83 &�1 3 &�50 2010-2012 219 0,0001375 0,9998635 8,313841 

84 &�50 3 &�51 2010-2012 219 0,0001375 0,9998635 8,313841 

85 &�51 3 &�52 2010-2012 219 0,0001375 0,9998635 8,313841 

86 &�52 3 &�53  2010-2012 219 0,0001375 0,9998635 8,313841 

87 &�53 3 &�54 2010-2012 219 0,0001375 0,9998635 8,313841 

88 &�54 3 &�55 2010-2012 159 0,0001508 0,9998502 8,313841 

89 &�55 3 &�56 2010-2012 159 0,0001819 0,9998194 8,313841 

90 &�56 3 &�57 2010-2012 75 0,000157 0,9998441 8,313841 

91 &�57 3 &�58 2010-2012 50 0,000157 0,9998441 8,313841 

92 &�58 3 &�58.1 2010-2012 50 0,000157 0,9998441 8,313841 

93 &�58.1 3 &�58.2 2010-2012 50 0,000157 0,9998441 8,313841 

94 &�58.2 3 &�58.3 2010-2012 40 0,000157 0,9998441 8,313841 

95 &�58.3 3 &�58.4 2010-2012 40 0,000157 0,9998441 8,313841 

96 &�58.4 3 &�58-5 2010-2012 40 0,000157 0,9998441 8,313841 

97 &�57 3 &�57.1 2010-2012 63 0,000157 0,9998441 8,313841 

98 &�57.1 3 &�57.2 2010-2012 63 0,0001819 0,9998194 8,313841 

99 &�57.2 3 &�57.3 2010-2012 63 0,0001701 0,999831 8,313841 

100 &�57.3 3 &�57.4 2010-2012 50 0,000157 0,9998441 8,313841 

101 &�57.4 3 &�57.5 2010-2012 40 0,0001375 0,9998635 8,313841 

102 &�56 3 &�56.1 2010-2012 75 0,0001375 0,9998635 8,313841 

103 &�56.1 3 &�56.2 2010-2012 75 0,000157 0,9998441 8,313841 

104 &�56.2 3 &�56.3 2010-2012 75 0,000157 0,9998441 8,313841 

105 &�56.3 3 &�56.4 2010-2012 75 0,000157 0,9998441 8,313841 

106 &�56.4 3 &�56.5 2010-2012 75 0,0001375 0,9998635 8,313841 

107 &�56.5 3 &�56.6 2010-2012 75 0,000157 0,9998441 8,313841 

108 &�56.6 3 &�56.7 2010-2012 75 0,0001375 0,9998635 8,313841 

109 &�56.7 3 &�59 2010-2012 75 0,0001375 0,9998635 8,313841 

110 &�59 3 &�59.1 2010-2012 40 0,0001701 0,999831 8,313841 

111 &�59.1 3 &�59.2 2010-2012 40 0,000157 0,9998441 8,313841 

112 &�59.2 3 &�59.3 2010-2012 40 0,000157 0,9998441 8,313841 

113 &�59.3 3 &�59.4 2010-2012 40 0,000157 0,9998441 8,313841 

114 &�59.4 3 &�59.5 2010-2012 32 0,0001508 0,9998502 8,313841 

115 &�59.5 3 &�59.6 2010-2012 32 0,0001701 0,999831 8,313841 

116 &�55 3 &�55.1 2010-2012 90 0,0001508 0,9998502 8,313841 

117 &�55.1 3 &�55.2  2010-2012 90 0,0001701 0,999831 8,313841 

118 &�55.2 3 &�55.3 2010-2012 90 0,0001375 0,9998635 8,313841 

119 &�55.3 3 &�55.4 2010-2012 90 0,0001375 0,9998635 8,313841 

120 &�55.4 3 &�55.5 2010-2012 75 0,0001375 0,9998635 8,313841 

121 &�55.5 3 &�55.6 2010-2012 75 0,0001375 0,9998635 8,313841 

122 &�55.6 3 &�55.7 2010-2012 75 0,0001624 0,9998387 8,313841 

123 &�55.7 3 &�60 2010-2012 75 0,000157 0,9998441 8,313841 

124 &�60 - &�60.1 2010-2012 40 0,0001375 0,9998635 8,313841 
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125 &�60.1 3 &�60.2 2010-2012 40 0,0001375 0,9998635 8,313841 

126 &�60.2 3 &�60.3 2010-2012 40 0,0001375 0,9998635 8,313841 

127 &�60.3 3 &�60.4 2010-2012 32 0,0001375 0,9998635 8,313841 

128 &�54 3 &�54.1 2010-2012 90 0,0001375 0,9998635 8,313841 

129 &�54.1 3 &�54.2 2010-2012 90 0,0001375 0,9998635 8,313841 

130 &�54.2- &�54.3 2010-2012 90 0,0001375 0,9998635 8,313841 

131 &�54.3 3 &�54.4 2010-2012 90 0,0001375 0,9998635 8,313841 

132 &�54.4 3 &�54.5 2010-2012 75 0,0001508 0,9998502 8,313841 

133 &�54.5 3 54.6 2010-2012 75 0,0001819 0,9998194 8,313841 

134 &�54.6 3 &�54.7 2010-2012 75 0,000157 0,9998441 8,313841 

135 &�54.7 3 &�61 2010-2012 75 0,000157 0,9998441 8,313841 

136 &�61 3 &�62 2010-2012 75 0,000157 0,9998441 8,313841 

137 &�62 3 &�63 2010-2012 75 0,000157 0,9998441 8,313841 

138 &�63 3 &�63.1 2010-2012 63 0,000157 0,9998441 8,313841 

139 &�63.1 3 &�63.2 2010-2012 63 0,000157 0,9998441 8,313841 

140 &�63.2 3 &�63.3 2010-2012 63 0,000157 0,9998441 8,313841 

141 &�63.3 3 &�63.4 2010-2012 50 0,000157 0,9998441 8,313841 

142 &�63.4 3 &�63.5 2010-2012 40 0,0001819 0,9998194 8,313841 

143 &�62 3 &�64 2010-2012 63 0,0001701 0,999831 8,313841 

144 &�64 3 &�64.1 2010-2012 63 0,000157 0,9998441 8,313841 

145 &�64.1 3 &�64.2 2010-2012 63 0,0001375 0,9998635 8,313841 

146 &�64.2 - &�64.3 2010-2012 63 0,0001375 0,9998635 8,313841 

147 &�64.3 3 &�64.4 2010-2012 50 0,000157 0,9998441 8,313841 

148 &�64.4 3 &�64.5 2010-2012 40 0,000157 0,9998441 8,313841 

149 &�53 3 &�53.1 2010-2012 90 0,000157 0,9998441 8,313841 

150 &�53.1 3 &�53.2 2010-2012 90 0,0001375 0,9998635 8,313841 

151 &�53.2 3 &�53.3 2010-2012 90 0,000157 0,9998441 8,313841 

152 &�53.3 3 &�53.4 2010-2012 75 0,0001375 0,9998635 8,313841 

153 &�53.4 3 &�53.5 2010-2012 75 0,0001375 0,9998635 8,313841 

154 &�53.5 3 &�70 2010-2012 75 0,0001701 0,999831 8,313841 

155 &�70 3 &�70.1 2010-2012 75 0,000157 0,9998441 8,313841 

156 &�70.1 3 &�70.2 2010-2012 75 0,000157 0,9998441 8,313841 

157 &�70.2 3 &�70.3 2010-2012 75 0,000157 0,9998441 8,313841 

158 &�70.3 3 &�70.4 2010-2012 75  0,0001508 0,9998502 8,313841 

159 &�70.4 3 &�70.5 2010-2012 75 0,0001701 0,999831 8,313841 

160 &�70.5 3 &�70.6 2010-2012 63 0,0001508 0,9998502 8,313841 

161 &�70.6 3 &�70.7 2010-2012 50 0,0001701 0,999831 8,313841 

162 &�52 3 &�52.1 2010-2012 90 0,0001375 0,9998635 8,313841 

163 &�52.1 3 &�52.2 2010-2012 90 0,0001375 0,9998635 8,313841 

164 &�52.2 3 &�52.3 2010-2012 90 0,0001375 0,9998635 8,313841 

165 &�52.3 3 &�52.4 2010-2012 90 0,0001375 0,9998635 8,313841 

166 &�52.4 3 &�52.5 2010-2012 75 0,0001624 0,9998387 8,313841 

167 &�52.5 3 &�52.6 2010-2012 75 0,000157 0,9998441 8,313841 

168 &�52.6 3 &�65 2010-2012 75 0,0001375 0,9998635 8,313841 
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169 &�65 3 &�66 2010-2012 75 0,0001375 0,9998635 8,313841 

170 &�66 3 &�67 2010-2012 75 0,0001375 0,9998635 8,313841 

171 &�67 3 &�67.1 2010-2012 63 0,0001375 0,9998635 8,313841 

172 &�67.1 3 &�67.2 2010-2012 63 0,0001375 0,9998635 8,313841 

173 &�67.2 3 &�67.3 2010-2012 50 0,0001375 0,9998635 8,313841 

174 &�67.3 3 &�67.4 2010-2012 50 0,0001375 0,9998635 8,313841 

175 &�67.4 3 &�67.5 2010-2012 40 0,0001375 0,9998635 8,313841 

176 &�66 3 &�68 2010-2012 63 0,0001508 0,9998502 8,313841 

177 &�68 3 &�68.1 2010-2012 63 0,0001819 0,9998194 8,313841 

178 &�68.1 3 &�68.2 2010-2012 63 0,000157 0,9998441 8,313841 

179 &�68.2 3 &�68.3 2010-2012 50 0,000157 0,9998441 8,313841 

180 &�68.3 3 &�68.4 2010-2012 50 0,000157 0,9998441 8,313841 

181 &�68.4 3 &�68.5 2010-2012 32 0,000157 0,9998441 8,313841 

182 &�51 3 &�51.1 2010-2012 110 0,000157 0,9998441 8,313841 

183 &�51.1 3 &�51.2 2010-2012 110 0,000157 0,9998441 8,313841 

184 &�51.2 3 &�51.3 2010-2012 110 0,000157 0,9998441 8,313841 

185 &�51.3 3 &�51.4 2010-2012 110 0,000157 0,9998441 8,313841 

186 &�51.4 3 &�51.5 2010-2012 90 0,0001819 0,9998194 8,313841 

187 &�51.5 3 &�51.6 2010-2012 90 0,0001701 0,999831 8,313841 

188 &�51.6 3 &�51.7 2010-2012 90 0,000157 0,9998441 8,313841 

189 &�51.7 3 &�69 2010-2012 90 0,0001375 0,9998635 8,313841 

190 &�69 3 &�69.1 2010-2012 75 0,0001375 0,9998635 8,313841 

191 &�69.1 3 &�69.2 2010-2012 75 0,000157 0,9998441 8,313841 

192 &�69.2 3 &�69.3 2010-2012 75 0,000157 0,9998441 8,313841 

193 &�69.3 3 &�69.4 2010-2012 63 0,000157 0,9998441 8,313841 

194 &�69.4 3 &�69.5 2010-2012 63 0,0001375 0,9998635 8,313841 

195 &�69.5 3 &�69.6 2010-2012 63 0,000157 0,9998441 8,313841 

196 &�69.6 3&�69.7 2010-2012 50 0,0001375 0,9998635 8,313841 

197 &�69.7 3 &�69.8 2010-2012 50 0,0001375 0,9998635 8,313841 

198 &�69.8 3 &�69.9 2010-2012 40 0,0001701 0,999831 8,313841 

�>F5?L=4O ?. -?<F4 
 

1 �>F5?L=4O 3 &�1 2018 219 0,000157 0,9998441 8,313841 

2 &�1 3 &�2 2018 159 0,000157 0,9998441 8,313841 

3 &�2 3 &�3 2018 159 0,0001508 0,9998502 8,313841 

4 &�3 3 &�4 2018 159 0,0001701 0,999831 8,313841 

5 &�4 3 &�5 �5F 44==OE 100 0,0001508 0,9998502 8,313841 

6 &�5 3 &�6 �5F 44==OE 100 0,0001701 0,999831 8,313841 

7 &�6 3 &�7 �5F 44==OE 80 0,0001375 0,9998635 8,313841 

8 &�4 3 &�8 �5F 44==OE 50 0,0001375 0,9998635 8,313841 

9 &�4 3 &�9 �5F 44==OE 159 0,0001375 0,9998635 8,313841 

10 &�9 3 &�10 �5F 44==OE 159 0,0001375 0,9998635 8,313841 

11 &�10 3 &�11 �5F 44==OE 159 0,0001624 0,9998387 8,313841 

12 &�11 3 &�12 �5F 44==OE 159  0,000157 0,9998441 8,313841 



 

 

�
74

<
. <

=6
. 7

 

 

�
>4

?.
 <

 4
4F

4 

 

�
=6

. 7
 ?

>4
?.

 

 

  

      
��&'�����&�/ %%��/ &����%�������/ �'��&����,���� 

 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

13 &�12 3 &�13 �5F 44==OE 159 0,0001375 0,9998635 8,313841 

14 &�13 3 &�14 2020 159 0,0001375 0,9998635 8,313841 

15 &�14 3 &�15 2020 159 0,0001375 0,9998635 8,313841 

16 &�15 3 �/E 2020 159 0,0001375 0,9998635 8,313841 

17 &�1 3 &�1.1 2013 80 0,0001375 0,9998635 8,313841 

18 &�1.1 3 6<?O5 4><4 2013 80 0,0001375 0,9998635 8,313841 

19 �>F5?L=4O 3 &�1.2 2013 50 0,0001375 0,9998635 8,313841 

�>F5?L=4O E. �D5=E>>5 

1 �>F5?L=4O - ,>>?4 �5F 44==OE 76 0,0001508 0,9998502 8,313841 

2 ,>>?4 3 4. 16 �5F 44==OE 40    
3 ,>>?4 3 4. 14 �5F 44==OE 40    

 
 

�> 44==O< D57<>=4?L=OE E?D46>G=<>>6 ?> >?<<4FG > ED54=5EGF>G=OE F5<-

?5D4FGD4E =4DG6=>7> 6>74GE4 74 ?>E?54=<5 45EOFL ?5F EFD>OF 746<E<<>EFL ?>6F>-

DO5<>EF< F5<?5D4FGD =4DG6=>7> 6>74GE4 (7D4D<> ?D>4>?6<F5?L=>EF< F5??>6>= 

=47DG7>< >F>??5=<O). �D< >FEGFEF6<< MF<E 44==OE 746<E<<>EFL ?>6F>DO5<>EF< 

F5<?5D4FGD =4DG6=>7> 6>74GE4 4?O <5EF>?>?>65=<O F5??>6OE E5F5= ?D<=<<4NF 

?> 44==O<  %� 131.13330.2020 «%FD><F5?L=4O >?<<4F>?>7<O» <?< %?D46>G=<>4 

«�4?44>4 < M>E??G4F4F<O 6>4O=OE F5??>6OE E5F5=».  

% <E?>?L7>64=<5< 44==OE > F5??>4>>G<G?<DGNM5= E?>E>5=>EF< 45>=5=F-

E><E GEF4=>6>> >?D545?ONF 6D5<O, 74 >>F>D>5 F5<?5D4FGD4 6=GFD< >F4??<645<>7> 

?><5M5=<O E=<7<FEO 4> F5<?5D4FGDO, GEF4=>6?5==>= 6 >D<F5D<OE >F>474 F5??>-

E=4565=<O. �F>47 F5??>E=4565=<O ?>FD55<F5?O 3 E>5OF<5, ?D<6>4OM55 > ?445-

=<N F5<?5D4FGDO 6 >F4??<645<OE ?><5M5=<OE 6<?OE < >5M5EF65==OE 744=<= 

=<65 +12 °%, 6 ?D><OL?5==OE 744=<OE =<65 +8 °% (%�<� 41-02-2003. &5??>6O5 

E5F<). �?O D4EG5F4 6D5<5=< E=<65=<O F5<?5D4FGDO 6 6<?>< 744=<< <E?>?L7GNF 

D>D<G?G:  

�6 = �= + ��
��� +

�6 � �=� !�
"�#

$%& ((/))                                                      (9.5) 

745 

  t6  - 6=GFD5==OO F5<?5D4FGD4, >>F>D4O GEF4=46?<645FEO 6 ?><5M5=<< G5D57 6D5<O 

� 6 G4E4E, ?>E?5 =4EFG??5=<O <EE>4=>7> E>5OF<O, °%; 

� - 6D5<O >FEG<FO645<>5 ?>E?5 =4G4?4 <EE>4=>7> E>5OF<O, G; 
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t6�� F5<?5D4FGD4 6 >F4??<645<>< ?><5M5=<<, >>F>D4O 5O?4 6 <><5=F =4G4?4 <E-

E>4=>7> E>5OF<O, °%; 

t=-F5<?5D4FGD4 =4DG6=>7> 6>74GE4, GED54=5==4O =4 ?5D<>45 6D5<5=< �, °%; 

Q
- ?>44G4 F5??>FO 6 ?><5M5=<5, �6/G; 

q
 V- G45?L=O5 D4EG5F=O5 F5??>6O5 ?>F5D< 744=<O, �6/(G×°%); 

0- >>MDD<F<5=F 4>>G<G?OF<< ?><5M5=<O (744=<O) 4?O 6<?>7> 744=<O D46=> 40, G. 

          �?O D4EG5F 6D5<5=< E=<65=<O F5<?5D4FGDO 6 6<?>< 7444=<< 4> +12p% ?D< 

6=574?=>< ?D5>D4M5=<< F5??>E=4565=<O MF4 D>D<G?4 ?D< 2 ��
��� = 04  <<55F E?5-

4GNM<= 6<4: 

�6 = �= + �6 � �=
$%& ((/))                                          (9.6) 

745 �6.4 26=GFD5==OO F5<?5D4FGD4, >>F>D4O GEF4=46?<645FEO >D<F5D<5< >F>474 

F5??>E=4565=<O (+12°% 4?O 6<?OE 744=<=); 

$4EG5F ?D>6>4<FEO 4?O >464>= 7D444F<< ?>6F>DO5<>EF< F5<?5D4FGDO =4DG6-

=>7> 6>74GE4. 

� F45?<F5 9.2 ?D54EF46?5= D4EG5F 6D5<5=< E=<65=<O F5<?5D4FGDO 6=GFD< 

>F4??<645<>7> ?><5M5=<O. 

&45?<F4 9.2 
&5<?5D4FGD4 =4DG6=>7> 

6>74GE4, °% 
�>6F>DO5<>EFL F5<?5D4FGD 

=4DG6=>7> 6>74GE4, G4E 
�D5<O E=<65=<O F5<?5D4FGDO 
6>74GE4 6=GFD< >F4??<645<>7> 

?><5M5=<O 4> +12°% 
-37  66  6,28  
-32  129  6,97  
-27  263  7,82  
-22  364  8,92  
-17  539  10,38  
-12  771  12,4  
-7  905  15,42  
0  932  20,43  

+5  1042  30,48  
+8  612  43,94  
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� 5>?LL<=EF65 E?GG456 =5E>5?N45=<5 =>D<4F<6=OE ?>>474F5?5= (65D>OF=>-

EF< 557>F>47=>= D45>FO [$], >>MDD<F<5=F 7>F>6=>EF< [�7], 6<6GG5EF< [�]) 6O-

764=> =5MDD5>F<6=>= D45>F>= F5=FD4?<7>64==OE E<EF5< F5??>E=4565=<O, 4 F4>-

65 >>DD>7<>==O<  <7=>E><  FDG5>?D>6>4>6 <?< 464D<==O<  E>EF>O=<5<  F5??>-

6OE  E5F5=, F4> >4> ?4D4<5FD ?>F>>4 >F>47>6 w, 4?O GG4EF>>6 E> ED>>>< E?G65O, 

?D56OL4NM<< D4EG5F=O=, ?D<=<<45F 5>?LL<5 7=4G5=<O. 

% F>G>< 7D5=<O =4456=>EF<, >5M<<< D5>><5=44F<O<< ?> ?>6OL5=<N 557>F-

>47=>EF< D45>FO, 4?O 6E5E GG4EF=<>>6, 6=5 746<E<<>EF< >F D57G?LF4F>6 D4EG5F4 

O6?ONFEO:  

- D5>>=EFDG>F<O GG4EF>>6 E> ED>>>< E?G65O,   ?D56OL4NM<< D4EG5F=O= 

ED>> E?G65O FDG5>?D>6>4>6, ?4D4<5FD ?>F>>4 >F>47>6 4?O >>F>DOE ?D<=<<45F 

5>?LL55 7=4G5=<O; 

- EFD><F5?LEF6> D575D6=OE E6O75= (?5D5<OG5>); 

- ?>6OL5=<5 >>MDD<F<5=F4 4>>G<G?OF<< F5??>FO 744=<= (GF5??5=<5, D54?<-

74F<O <5D>?D<OF<= ?D>7D4<<O M=5D7>E55D565=<O). 

�D><5 F>7>, ?><<<> EE5<=OE D5L5=<=, >5M5= D5>><5=44F<O<< ?> ?>6OL5-

=<N =4456=>EF< F5??>E=4565=<O O6?O5FEO 6=54D5=<5 <5D>?D<OF<O ?> G?GGL5-

=<N M>E??G4F4F<< F5??>6OE E5F5= 3 65=F<?OF<O >4<5D < >4=4?>6, ?D>>?44>4 4D5-

=46=OE ?<=<=, 6=54D5=<5 E<EF5< M?5>FD>E<<<G5E>>= 74M<FO. 
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'4EFL 10. &5E=<>>-M>>=><<G5E><5 ?>>474F5?< F5??>E=4564NM<E < 
F5??>E5F56OE >D74=<74F<= 

&45?<F4 10.1 

?.?. �4<<5=>64=<5 ?>>474F5?O 
�47>6O= ?5-
D<>4 (FOE. 

DG5.) 

�5D<>4 D57G?<-
D>64=<O (FOE. 

DG5.) 

1 2   

1. %ODL5, >E=>6=O5 <4F5D<4?O 289,35 306,71 

2. �E?><>74F5?L=O5 <4F5D<4?O 177 187,62 

  <7 =<E =4 D5<>=F 177 187,62 

3. $45>FO < GE?G7< ?D><76>4EF65==>7>  E4D4>F5D4   

  <7 =<E =4 D5<>=F   

4. &>??<6> =4 F5E=>?>7<G5E><5 F5?< 2954,20 3166,90 

5. -=5D7<O  1822,73 1943,03 

5.1. 
-=5D7<O =4 F5E=>?>7<G5E><5 F5?< (?>>G?=4O 
M=5D7<O) 1822,73 1943,03 

5.2. -=5D7<O =4 E>7O=EF65==O5 =G64O   

6. �4FD4FO =4 >??4FG FDG44 3199,22 3391,17 

  <7 =<E =4 D5<>=F 959,77 1017,35 

7. �FG<E?5=<O =4 E>F<4?L=O5 =G64O 973,3 1031,70 

  <7 =<E =4 D5<>=F 291,99 309,51 

8. �<>DF<74F<O >E=>6=OE ED54EF6 200,5 200,5 

9. �D>G<5 74FD4FO 6E57> , 6 F>< G<E?5: 589,60 624,98 

9.1. &5?56O5 ED54EF64 =4 ����$   

9.2. %D54EF64 =4  EFD4E>64=<5   

9.3. 
�?4F4 74 ?D545?L=> 4>?GEF<<O5 6O5D>EO (E5D>-
EO)   

9.5. 
�FG<E?5=<O 6 D5<>=F=O= D>=4 (6 E?GG45 57> 
D>D<<D>64=<O)   

9.6. �>4=O= =4?>7 (�-%) - - 

9.7. 
�5?D><76>4EF65==O5 D4EE>4O (=4?>7< < 4DG7<5 
>5O74F5?L=O5 ??4F56< < E5>DO)   

9.7.1. �4?>7 =4 75<?N (557 4D5=4O) - - 

9.7.2. �4?>7 =4 ?>?L7>64F5?5= 46F>4>D>7 - - 

9.8. 
�DG7<5 74FD4FO, >F=>E<<O5 =4 E555EF><<>EFL 
?D>4G>F<<,6E57> 739,31 783,67 

  6 F.G.   
9.8.1. �D5=4=4O ??4F4 (E 75<?5=)   

9.8.2. �4D45>F=4O ??4F4 �'�   

9.8.3. �FG<E?5=<O �'�   

9.8.4. �D>G<5 74FD4FO  739,31 783,67 

10. �F>7> D4EE>4>6 10355,61 11011,30 

  <7 =<E =4 D5<>=F   
1. �D<5O?L =4 D476<F<5 ?D><76>4EF64   
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2. �D<5O?L =4 E>F<4?L=>5 D476<F<5    
3. �D<5O?L =4 ?>>MD5=<5 < E>F. 6O??4FO   
4. �<6<45=4O ?> 4>F<O<   
5. �D<5O?L =4 ?D>G<5 F5?<   
6. �D<5O?L, >5?4745<4O =4?>7><   

7. �4?>7<, E5>DO, ??4F56< - 6E57>   
   �D<5O?L >F F>64D=>= ?D>4G>F<<    

  �5>5E>4<<4O 64?>64O 6ODGG>4, FOE.DG5. 10355,61 11011,30 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

'4EFL 11. &5=O (F4D<DO) 6 ED5D5 F5??>E=4565=<O 

�4 F5DD<F>D<< -?<F>6E>>7> E5?LE>65F4, =4 >E=>64=<< 4>7>6>D4 4D5=4O 

?D><76>4EF6> < ?5D544GG F5??>6>= M=5D7<< >EGM5EF6?O5F ��� «�%�». �D< >EG-

M5EF6?5=<< 45OF5?L=>EF< ?> ?D><76>4EF6G < ?5D544G< F5??>6>= M=5D7<< ��� 

«�%�» ?D<<5=ONFEO F4D<DO, D4=55 GF65D645==O5 �<=<EF5DEF6>< F4D<D=>= ?>-

?<F<>< �D4E=>ODE>>7> >D4O, 4?O �>F<>=5D=>7> >5M5EF64 «�><<G=4?L=>-

M=5D75F<G5E><= >><??5>E �<5?LO=>6E>>7> D4=>=4», 6 G4EF< >>F5?L=OE E. 

�D5=E>>5 < ?. -?<F4, 4 F4>65 F4D<DO �5M5EF64 E >7D4=<G5==>= >F65FEF65==>-

EFLN «-?&M>» 6 G4EF< >>F5?L=>= <>D. �<4=O= ?. -?<F4. 

4) EFDG>FGDO F5= (F4D<D>6) GEF4=>6?5==OE =4 <><5=F 4>FG4?<74F<< 
EE5<O F5??>E=4565=<O ?D54EF46?5=O 6 �D<?>65=<< > G4EF< 11  

5) ??4F4 74 ?>4>?NG5=<5 > E<EF5<5 F5??>E=4565=<O < ?>EFG??5=<= 45-

=56=OE ED54EF6 >F >EGM5EF6?5=<O G>474==>= 45OF5?L=>EF<: 

'F65D645==O5 F4D<DO =4 F5E=>?>7<G5E>>5 ?D<E>54<=5=<5 > E5FO< F5??>-

E=4565=<O >FEGFEF6GNF. 

6) ??4F4 74 GE?G7< ?> ?>445D64=<N D575D6=>= F5??>6>= <>M=>EF<, 6 

F>< G<E?5 4?O E>F<4?L=> 7=4G<<OE >4F57>D<= ?>FD55<F5?5=: 

�4==O5 =5 ?D54>EF46?5=O. 
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��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � ��$%���&��' �� 2030 ���� 

 

       

�7<. �>?.GG. �<EF 7 4>>. �>4?<EL �4F4  

$47D45>F4?    

�6545=<5 

%F44<O �<EF �<EF>6  

    �
D

41 41  

    

��� «%�%» 
 

     

     

         

�D<?>65=<5 > G4EF< 11 
 

�D<?>65=<5 N 1 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 17 45>45DO 2020 7. N 316-? 
�D<?>65=<5 N 2 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 18 45>45DO 2019 7. N 502-? 

 
�?O ?>FD55<F5?5= F5??>6>= M=5D7<< >>F5?L=>= E. �D5=E>>5 
 

N 
?/? 

�4<<5=>64=<5 
D57G?<DG5<>= 
>D74=<74F<< 

�<4 F4D<D4 �>4 1-5 ?>?G7>4<5 2-5 ?>?G7>4<5 

    6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < D54G-
F<D>64==O= 
?4D 

6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < 
D54GF<D>64=-
=O= ?4D 

     >F 1,2 
4> 2,5 
>7/E<2 

>F 2,5 
4> 7,0 
>7/E<2 

>F 7,0 
4> 
13,0 
>7/E<2 

E6OL5 
13,0 
>7/E<2 

  >F 1,2 
4> 2,5 
>7/E<2 

>F 2,5 
4> 7,0 
>7/E<2 

>F 7,0 
4> 
13,0 
>7/E<2 

E6OL5 
13,0 
>7/E<2 

 

1 �� "�-�" �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
1.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2020 1970,99 - - - - - 2061,62 - - - - - 

2  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
2.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2020 1970,99 - - - - - 2061,62 - - - - - 

3  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
3.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2021 2061,62 - - - - - 2061,62 - - - - - 

4  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
4.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2021 2061,62 - - - - - 2061,62 - - - - - 

5 �� "�-�" �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

5.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2022 2097,22 - - - - - 2211,73 - - - - - 

6  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
6.
1 

 >4=>EF46>G-
=O=, 
DG5./�>4? 

2022 2097,22 - - - - - 2211,73 - - - -  

 
�D<?>65=<5 N 19 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 17 45>45DO 2020 7. N 316-?  
�D<?>65=<5 N 20 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 18 45>45DO 2019 7. N 502-? 

 
�?O ?>FD55<F5?5= F5??>6>= M=5D7<< >>F5?L=>= ?. -?<F4 
 

N 
?/? 

�4<<5=>64-
=<5 D57G?<-

DG5<>= >D74-
=<74F<< 

�<4 F4D<D4 �>4 1-5 ?>?G7>4<5 2-5 ?>?G7>4<5 

    6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < 
D54GF<D>-

64==O= ?4D 

6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < 
D54GF<D>-

64==O= ?4D 
     >F 1,2 

4> 2,5 
>7/E<

2 

>F 2,5 
4> 7,0 
>7/E<

2 

>F 7,0 
4> 

13,0 
>7/E<

2 

E6O-
L5 

13,0 
>7/E<

2 

  >F 1,2 
4> 2,5 
>7/E<

2 

>F 2,5 
4> 7,0 
>7/E<

2 

>F 7,0 
4> 

13,0 
>7/E<

2 

E6O-
L5 

13,0 
>7/E<

2 

 

1 �� "�-�" �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
1.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
0 

1970,9
9 

- - - - - 2061,6
2 

- - - - - 

2  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
2.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
0 

1970,9
9 

- - - - - 2061,6
2 

- - - - - 

3  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
3.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
1 

2061,6
2 

- - - - - 2061,6
2 

- - - - - 

4  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
4.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
1 

2061,6
2 

- - - - - 2061,6
2 

- - - - - 

5 �� "�-�" �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
5.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
2 

2104,2
1 

- - - - - 2218,2
5 

- - - - - 

6  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

6.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
2 

2104,2
1 

- - - - - 2218,2
5 

- - - - - 

 
�D<?>65=<5 N 1 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 17 45>45DO 2020 7. N 305-? 

�D<?>65=<5 N 2 > �D<>47G <<=<EF5DEF64 F4D<D=>= ?>?<F<>< �D4E=>ODE>>7> >D4O >F 3 45>45DO 2018 7. N 81-? 

 
�?O ?>FD55<F5?5= F5??>6>= M=5D7<< >F >>F5?L=>= <>D. �<4=O= ?. -?<F4 
 

N 
?/? 

�4<<5=>64-
=<5 D57G?<-

DG5<>= >D74-
=<74F<< 

�<4 F4D<D4 �>4 1-5 ?>?G7>4<5 2-5 ?>?G7>4<5 

    6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < D54G-
F<D>64==O= 

?4D 

6>44 >F5>D=O= ?4D 446?5=<5< >EFDO= < D54G-
F<D>64==O= 

?4D 
     >F 1,2 

4> 2,5 
>7/E<

2 

>F 2,5 
4> 7,0 
>7/E<

2 

>F 7,0 
4> 

13,0 
>7/E<

2 

E6O-
L5 

13,0 
>7/E<

2 

  >F 1,2 
4> 2,5 
>7/E<

2 

>F 2,5 
4> 7,0 
>7/E<

2 

>F 7,0 
4> 

13,0 
>7/E<

2 

E6O-
L5 

13,0 
>7/E<

2 

 

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 
1 ��� "-?&-�" �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
1.1  >4=>EF46>G-

=O=, DG5./�>4? 
201
9 

3286,82
2 

- - - - - 3431,44
4 

- - - - - 

2  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
2.1  >4=>EF46>G-

=O=, DG5./�>4? 
201
9 

3286,82 - - - - - 3431,44 - - - - - 

3  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
3.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
0 

3431,44 - - - - - 3431,44 - - - - - 

4  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
4.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
0 

3431,44 - - - - - 3431,44 - - - - - 

5  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
5.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
1 

3431,44 - - - - - 3431,44 - - - - - 

6 ��� "-?&-�" �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
6.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
1 

3431,44 - - - - - 3431,44 - - - - - 

7  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

7.1  >4=>EF46>G-
=O=, DG5./�>4? 

202
2 

3619,66 - - - - - 3632,58 - - - - - 

8  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
8.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
2 

3619,66 - - - - - 3632,58 - - - - - 

9  �?O ?>FD55<F5?5=, 6 E?GG45 >FEGFEF6<O 4<DD5D5=F<4F<< F4D<D>6 ?> EE5<5 ?>4>?NG5=<O 
9.1  >4=>EF46>G-

=O=, DG5./�>4? 
202
3 

3632,58 - - - - - 3820,42 - - - - - 

10  �4E5?5=<5 (F4D<DO G>47O64NFEO E GG5F>< ��%) 
10.
1 

 >4=>EF46>G-
=O=, DG5./�>4? 

202
3 

3632,58 - - - - - 3820,42 - - - - - 
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��&'�����&�/ %%��/ &����%�������/ �'��&����,���� 

 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

'4EFL 12. �E=>6=O5 ?D>5?5<O >D74=<74F<< F5??>E=4565=<O 

 �=4?<7 EGM5EF6GNM57> F5E=<G5E>>7> E>EF>O=<O <EF>G=<>>6 F5??>6>= 

M=5D7<< 6 E<EF5<4E F5=FD4?<7>64==>7> F5??>E=4565=<O ?D<65? > E?54GNM<< 

6O6>44<: 

 - >E=>6=>5 >5>DG4>64=<5 <EF>G=<>>6 F5??>6>= M=5D7<<, >4> ?D46<?>, <<55F 

6OE>>GN EF5?5=L <7=>E4. $4>F<G5E><= ED>> E?G65O 7=4G<F5?L=>= G4EF< >5>DG-

4>64=<O >>F5?L=OE 5>?LL5 ?D54GE<>FD5==>7> F5E=<G5E>>= 4>>G<5=F4F<5=. -F> 

>5>DG4>64=<5 D<7<G5E>< < <>D4?L=> GEF4D5?> < EGM5EF65==> GEFG?45F ?> M>>-

=><<G=>EF< E>6D5<5==O< >5D47F4<. �D<G<=4 F4>>7> ?>?>65=<O E>EF><F 6 >F-

EGFEF6<< ED54EF6 G E>5EF65==<>4 <?< M>E??G4F<DGNM5= >D74=<74F<< 4?O 74<5=O 

>5>DG4>64=<O =4 5>?55 E>6D5<5==O5 4=4?>7<; 

 - F5??>6O5 E5F< <<5NF 4>EF4F>G=> 5>?LL>= ?D>F5=F <7=>E4; 

 - >FEGFEF6G5F 7<4D46?<G5E>4O D57G?<D>6>4 F5=FD4?<7>64==>= E<EF5<O F5?-

?>E=4565=<O; 

- =5G4>6?5F6>D<F5?L=>5 E>EF>O=<5 >4=4?>6 < F5??>6OE >4<5D: 74<?<64=<5, 

74F>??5=<5 6>4>= F5??>?D>6>4>6, ?D>=<>=>65=<5 4F<>ED5D=OE >E44>>6, >FEGF-

EF6<5 =4456=OE 4=F<>>DD>7<>==OE ?>>DOF<= FDG5>?D>6>4>6; 

- >>F5?L=O5 6 E. �D5=E>>5 < 6 ?. -?<F4, =5 >E=4M5=O ?D<5>D4<< GG5F4 ?>-

FD55?O5<OE D5EGDE>6, ?D><76545==>= < >F?GM5==>= F5??>6>= M=5D7<< < F5??>-

=>E<F5?O, ED54EF64<< 46F><4F<G5E>>7> G?D46?5=<O F5E=>?>7<G5E><<< ?D>F5EE4-

<< < D56<<>< >F?GE>4 F5??4. -F> ?D<6>4<F > =56OE>>>= M>>=><<G=>EF< =5<7-

=>L5==>7> >5>DG4>64=<O, =4E>4OM57>EO 6 E>D>L5< F5E=<G5E>>< E>EF>O=<<. 
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 ��$�������/ -��&��%��� %��,%���& ����,/���%���� $����� 
�$�%��/$%���� �$�/ �� 2021 ��� � �� ��$%���&��' �� 2030 ���� 

�<EF  

      
 

 

�7<. �>?.GG. �<EF 7 4>>. �>4?. �4F4  

         

 
%?<E>> <E?>?L7>64==OE <EF>G=<>>6 

 
 
1. �>EF4=>6?5=<5 �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 22.02.2012 7. 7154 

«� FD55>64=<OE > EE5<4< F5??>E=4565=<O, ?>DO4>G <E D47D45>F>< < GF65D-

645=<O»; 

2. �D<>47 �<=<EF5DEF64 M=5D75F<>< $>EE<=E>>= $545D4F<< >F 05.03.2019 

7212 �5 GF65D645=<< «�5F>4<G5E><E G>474=<= ?> D47D45>F>5 EE5< F5??>-

E=4565=<O». 

3. %�<� 41-02-2003 «&5??>6O5 E5F<»; 

4. %�<� II-35-76 «�>F5?L=O5 GEF4=>6><»; 

5. �D<>47 �<=<EF5DEF64 M=5D75F<>< $>EE<=E>>= $545D4F<< >F 30 45>45DO 2008 

7. 7 325 «�5 GF65D645=<< ?>DO4>4 >?D545?5=<O =>D<4F<6>6 F5E=>?>7<G5-

E><E ?>F5DL ?D< ?5D544G5 F5??>6>= M=5D7<<, F5??>=>E<F5?O» 

6. �D<>47 �<=<EF5DEF64 M=5D75F<>< $>EE<=E>>= $545D4F<< >F 10 <N?O 2012 7. 

7 377 «� ?>DO4>5 >?D545?5=<O =>D<4F<6>6 F5E=>?>7<G5E><E ?>F5DL ?D< ?5-
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